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INTRODUCTION

This lesson, Training and Tactics-1, contains a narrative with
information about the tactics of a Czechoslovak tank battalion.
The narrative has two parts. The first part describes tactics used
in the attack, and the second describes tactics used in the defense.

In the interrogation part, PW MSG Josef ¥imek is being inter-
rogated about the tactics currently utilized by his unit, the 57th
Tank Battalion.

OBJECTIVE

At the end of this lesson you will be able to question the
source and obtain information known to him about offensive and
defensive tactics employed by his unit. You should be able to
speak with confidence and comprehend spoken and written texts in
this topical area without consulting lexical aids.
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SUGGESTIONS FOR STUDYING

Remember, this program is self-instructional, and YOU are t
only person responsible for your learning. It is up to YOU to 4
termine where, when, and how you want to proceed. The following
hints may help you to achieve the best results.

1. Make sure you have all the necessary materials and
equipment before starting.

2. Regular, short, and frequent working periods are
recommended.

3. Find a quiet, comfortable place where you will not be
disturbed.

4. Do pot write your answers in this booklet. Use your ow
paper.

Repeat each exercise until you thoroughly understand the co
tents and can completely perform the required tasks before movin
on to the next exercise.
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LESSON ORGANIZATION

The Vocabulary Pretest, designed to give you a preview of the vo-
cabulary you will need to know to attain the objective of this les-
son, provides Czech sentences with key words and phrases underlined
to be translated in writing.

Study Resource 1 is the taped vocabulary with additional sample
sentences together with the words and phrases introduced in the
pretest. The Vocabulary Posttest is based on these vocabulary

items.

The Vocabulary Posttest measures your knowledge of some key words/
phrases contained in Study Resource 1.

Study Resource 2 is a Czech narrative describing the offensive and
defensive tactics used by the CPA's tank units. Practice Exercises
1-3 and the Self-Evaluation Test, Part 1, are based on Study
Resource 2.

Study Resource 3 is part. of a continuing interrogation used in
these lessons. Practice Exercises 4-6 and the Self-Evaluation
Test, Part 2, are based on Study Resource 3.

The Self-Evaluation Test consists of two parts:

Part 1 consists of 10 multiple-choice statements based on
study Resource 2.

Part 2 is a taped dialog of 10 exchanges based on Study
Resource 3.

Translations of Study Resources

The Enrichment Supplement in this lesson is an article taken from
Atom 2/1984 magazine describing che modern tank gun stabilization
systems.
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" VOCABULARY PRETEST

Instructions:u Write the English meaning of the underlined words

and phrases as used in the context of each sentence. Skip the
ones you cannot translate. Check your answers with the key.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

=21.

Svou ¥4dost musite dolo¥it potvrzenim o vojenské€ slu¥%bd.

Poda¥ilo se jim stdhnout vojska ve stanovené 1lhfitE.

Druhy tankovy prapor nebyl pouZ¥it k obejiti.

Obchvat byl provdd®n vysokym tempem.
O0dchod m@¥e byt proveden pouze na rozkaz nad¥izeného velitel

Odolnost nep¥ftele v op¥rnych bodech byla zna¥n¥é sniZend.

Po pFechodu do obrany prapor musel odrdZet udtoky nep¥itele.
Vv prfb¥hu boje ztratil prapor t¥i tanky.
Ka¥dd jednotka md svdj obranny rajén.

N&S velitel md velk€ organiza®ni schopnosti.

Pou¥itfm jadernych zbrani mZeme vytvoT¥it trhliny v obran@®
nep¥itele.

Po vyst¥fddni ode¥la jednotka na misto odpo€inku.

Tanky se vyznaBujf vysokou pohyblivosti.

Utok tankového praporu na brdniciho se nepfitele byl veden
s plnym vyp&tim sil.

P¥ed p¥ednim okrajem obrany mEl nepF¥itel p¥edsunutd postaver:

Skrytf a rychly obchvat m4& pFekvapivy dlinek.

Bez p¥evahy sil se t8%Zko dtoTi.

V mezerdch rajénu obrany byly poloZeny miny.

Ve st¥etném boji dochdzi k ndhlym a rychlym zm&ndm situace.

P¥i dtoku z chodu se musi velitel rychle rozhodovat.

Utok z pFimého dotyku se rozviji za sloZité a rychle se me&n

situace.
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22, vy8kdvaci postaveni musi skytat dobré podminky k ochran@® p¥ed
neprdtelskym prfizkumemnm.

Dobr4{ obrana musi mit vyhodn¥ umistEnd palebnd postaveni.

Prapor vyrazil z vychoziho prostoru k dtoku.

vyjitf z boje kryji jednotky ponechané na ur€itou dobu v
dotyku s nepfitelem.

Zzadni voj provddi zadni zaji¥t¥ni.

27. ©PY¥es dtoky protivnika jsme udrZeli zaujaty prostor.
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STUDY RESOURCE 1

Instructions: Below is a list of the new vocabulary items that

will be used in this lesson. Each Czech word or phrase will be
repeated twice on tape and then the example sentence will be give

Repeat each word or phrase and the example sentence to mas

ter this vocabulary before going on to the next part of the lessc

Siovicka

doklddat, doloZit - to document, to support (by evidence)

I kdy¥ tvrdila, Ze je o¥et¥ovatelka, nemohla doloZit své
vzd¥l4ni diplomem.

Even though she maintained that she was a registered nurs
she had no diploma to support her claim.

lhdta - time period, time allowed, time limit

Na poddni stiZnosti mdte lhfitu deset dn{.

You have a time period of 10 days to submit your complain

obejiti - deep envelopment

Obejitif provede 1. tpr v soufinnosti s 3. mspr, ktery bud
dto€it €elnt.

The deep envelopment will be carried out by the 1st Tank
Battalion in coordination with the 3rd Motorized Rifle
Battalion, which will be attacking frontally.

obchvat - close envelopment

Zdmyslem nad¥Izendho velitele bylo provedeni obchvatu.

The superior commander's intention was to carry out a clo
envelopment.

odchod - withdrawal, departure, exit

Odchod se m%Ze provést k zaujeti vyhodn&jEiho postaveni.

The withdrawal can be carried out for (the purpose of)
occupying more advantageous positions.
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6. odolnost - resistance
Po palebné p¥iprav¥® dtoku odolnost protivnika byla omezena.

After preparation fires for the assault were completed, the
opponent's resistance was limited.

7. odrd¥et, odrazit - to repel, to ward off

prvni Wtok nepFitele byl lehce odraZen.

The first enemy attack was repelled with ease.
8. prb¥h - course (of events)

v pr@b¥hu - in (during) the course of

Prb%¥h boje byl urfen bojovymi mo¥nostmi praporu, charak=-
terem terénu a jinymi podminkami.

The course of combat was determined by the battalion's
combat capabilities, the nature of the terrain, and other
conditions.

9. rajén - (unit) area

V op¥rnych bodech rajénu obrany se budujf hlavni a zdloZni
palebnd postaveni.

The primary and alternate firing positions are being con-
structed within the defensive area strong peints.

10. schopnost - ability, capability
Velitel musi mit schopnost sprdvnE& hodnotit bojovou situaci.

The commander has to have the ability (has to be able) to
correctly evaluate the combat situation.

11. trhlina - breach
Trhlina je ndsiln¥ vytvofend mezera v bojové sestave.

A breach is a gap in a combat formation created by a force.



12. vyst¥{ddni - relief

Po pfilnoci velitel provedl vyst¥{ddni jednotek prvniho
sledu.. '

The commander conducted the relief of first echelon units
after midnight.
13. vyznaTovat se, vyzna¥®it se - to be noted for

Pro velkou po&dtedni rychlost st¥el se tankovy kandn
vyznaTuje zna¥nym dost¥elem a velkou pr@bojnostf.

'Because of the high muzzle velocity of the projectiles,
the tank gun is noted for its considerable range and high
penetration.

14. plné vyp&ti sil - utmost effort, (to do something to one's
best ability, with all one's strength/migh

Prapor rozvijel dtok do hloubky nep¥4dtelské sestavy s Ppln
vyp&tim sil.

The battalion continued its attack into the depth of the
enemy defense with all of its strength.

15. pYedsunuté postaveni - forward (defensive) position, forward
of forward edge of the battle area
(FEBA)

P¥fedsunut€ postaveni se organizuje v obran3¥ na jednotllvy¢
dfileZitych smBrech k oklamdni nep¥itele.

In the defense, the forward positions are organized on the
avenues of approach to deceive the enemy.

16. pFekvapivy Wéinek - surprise effect

N4E skryty a rychly manévr m3l pro nep¥ftele p¥ekvapivy
dZ€inek.

Our concealed and fast maneuver had a surprise effect on
the enemy.
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17. pFevaha sil - superiority of forces, superiority

PY¥évaha sil se m¥e dosahnout dovednym a v€asnym manévrem
a pouZitim vSech prost¥edkfi niTent.

One's forces can’attainvsuperiority by skillful and
timely maneuvers, using all available weapons.

18. rajén obrany - (unit) defensive area

B¥{¥ka rajénu obrany praporu zdvisi na bojové sestavE® a na
podminkdch terénu.

The width of the battalion defensive area depends on the
type of deployment formation and the nature of the terrain.

19, st¥etny boj - meeting engagement

St¥etny boj je druh dto¥ného boje, p¥i n€mZ se ob¥® strany
sna®i soudasn® dosdhnout svého cile dtokem.

_ The meeting engagement is the type of offensive action in
A which both sides, simultaneously, try to attain their goal
' by attacking.

20. dtok z chodu - attack from the march

Utok z chodu je takovy zplsob dtoku, p¥i nEm¥ vojska
zahajuji zte¥ ihned, nebo krdtce po pFibliZeni k nep¥iteli.

The attack from the march is a type of attack in which the
troops mount an assault .immediately upon, or shortly after,
approaching the enenmy.

21. dtok z p¥Fimého dotyku - attack from direct contact

NejtBE¥Eim dkolem p¥i dtoku z p¥imého dotyku je pfekondni
p¥edniho okraje nep¥dtelské obrany.

During the attack from direct contact, the most difficult
task is to breach (overcome) the enemy's FEBA.

22. vyZlkdvaci postaveni - holding position

vy&k4dvacl postaveni je €4st terénu, zaujimand jednotkami
na krdtky ¢as pred zaujetim palebnych postaveni.

A holding position is that portion of the terrain which
units occupy for a short time before taking up {occupying)
firing positions.




23. vyhodn¥ umist&ny - advantageously located

Kapitdn Nov&k ¥idil d€lostYeleckou palbu z vyhodng umist:
pozorovatelny.

Captain Novdk directed the artillery fire from an
advantageously located observation post (oep).

24. vy¥chozi prostor (k dtoku) - attack (jump-off) position

V¥choz{ prostor musi umoZiovat skryt€ rozmist&ni vojsk a
zajistovat podminky pro p¥echod do dtoku.

The attack position has to enable the concealed deployme
of troops and ensure conditions for switching to the att.

25. vyjiti z boje - disengagement, break off

Vyjitf z boje je pFeru¥eni t¥Esného dotyku s nep¥itelem.

Disengagement is the breaking of close contact with
the eneny.

26. zadni{ voj - rear security detachment, rear guard
Zadni voj pluku tvo¥ila 3. tr s Tetou Zenistf.

The 3rd Tank Company, with an engineer platoon, formed t
rear guard of the regiment.

27. zaujaty prostor - occupied area

P¥ed zaujatym prostorem kladli Zenisté miny.

The engineers were laying mines in front of the occupied
area.

10
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VPT
VOCABULARY POSTTEST
Instructions: Using the words or phrases below, complete the
following sentences.
trhlina obejity dtok z chodu
p¥evaha sil do Wtoku z p¥imého pY¥ekvapivy d€inek
dotyku
doloZte schopnosti praporu po vyjiti z boje
v¥choziho prostoru v¥hodn® umist&ny vyEkdvacim postaveni
odolnost obchvatem odrdZet
st¥etny boj zadnim vojem o vyst¥iddni
i1hdte v pribEhu p¥edsunuté postavend
odchodu plnym vyp&tim sil rajénu obrany
1. Svou ¥4ddost o zdravotni dovolenou 1Léka¥skym
vysvéd€enim.
2. Po tEZkE€ nemoci tBlo ztrdci. .
3. VNeobdrEeli ve stanovené souEistky,-které
objednali.
4. Po¥dddni jednotek je v této situaci nejlep¥im
Yefenim.
5. brdnit se byly omezeny terénﬁfmi podminkami.
6. boje hraii tanky velmi dfileZitou dlohu.
7. Uto¥ny boj se probiéf s .
8. ©Prapor pFfeFel s nepf¥itelem.
9. Vv jsou vyhodn¥ umistdné op&rné body rot a Tet.
10. Z tanky 2. tpr vyrazily k dtoku.
11. Pou¥iti jadern¥ch zbrani mElo .
12. Ve - si tankovy prapor doplnil st¥elivo a PHM.

11
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STUDY RESOURCE 2

Instructions: The following narrative contains information about
the attack and the defense tactics of a Czech tank battalion. Re:
the narrative several times until you are familiar with the conte
Then listen to the narrative on tape, following the text in your
book.

TAKTIKA UESKOSLOVENSKEHO TANKOVEHO PRAPORU

JgTOX

Techoslovdgi, stejn¥ jako Rusove, poklddajf dtok za hlavni dru
boje, ktery md rozhodujici vyznam pro dosa¥eni vit€zstvi nad ne-
p¥itelem. Uto¥ny boj se vede v rychlém tempu, do zna¥né hloubky
nepFdtelskd obrany, s cilem dplného zniBenf nep¥itele a ovliddnuti
dfle¥itych prostorfi. Provddf se s plnym vypdtim sil, v dzkd€ sou-
¥innosti vZech druhf vojsk, ve dne i v noci a za jakéhokoliv pota
Tto¥ny boj md vysoce manévrovy charakter, s rychlymi a ndhlymi zm
nami situace. Tankové jednotky se zvl145t¥E hodi pro tento druh bo
proto¥e se vyznafuji velkou uddernou a palebnou silou a vysokou
pohyblivosti.

Pou¥itf jadernych zbrani urBuje podminky dtoku. Tyto zbran@®
mohou uml¥et hlavni objekty nep¥itele, vytvo¥it trhliny a mezery
v bojové sestavE. Tankovy prapor mfiZe plsobit na sm&ru pouZiti
jadernych zbrani, nebo provdd¥t obchvaty a obejiti s cilem vyjit
do boku a .t¥lu hlavnich sil nepfitele a rozhodn?® je nitit.

v podminkdch, kdy nebudou pouZity jaderné zbran¥, bude t¥eba
provdd%t del¥f palebnou p¥ipravu, vytvoF¥it pFevahu sil a dto¥it
v u¥¥ich pdsmech postupu. V takovém p¥ipad¥ jednim z nejobtiZ-
nE¥j¥fch Wkoll bude provedeni prfilomu p¥edniho okraje obrany
nep¥itele.

v soudob€ teorii i praxi vojenstvi existuji dvE formy dtoku:
dtok z chodu a dtok z pFimého dotyku.

v dfsledku pou¥iti jadernych zbrani ztrdci obrana nep¥itele,
bez ohledu na stupel jeji pFipravy, svou odolnost a jsou vytvo¥en
podminky pro dtok z chodu. Je zabezpe¥ena skrytd pFiprava k dtok
dosahuje se pFekvapivého dfinku a sniZ¥uje se rozsah Y¥enijnich pra
v blfzkosti pFedniho okraje.

Tankovy prapor mfi¥e dto¥it z chodu taky p¥i vyst¥id4ni brdnici
se vojsk, nebo p¥imo z obrany. V takovém p¥ipad® tanky zaujimaji
vy€kdvaci postaveni v hloubce vlastni obrany a pfechdzeji do Wdtok
'z chodu bez zaujeti vychoziho prostoru.

12
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Utok z p¥imého dotyku s nep¥itelem se uskutedfiuje hlavné tehdy,
. kdy¥%¥ terén nedovoluje provést dtok z chodu, ale umoZhuje skryt®
- zaujmout postaveni v blizkosti p¥edniho okraje. Taky, kdyZ bude
" nutn€, aby prapor p¥e¥el z obrany do dtoku.

Tankov€ jednotky pouZivajf v dtoku t¥i hlavni druhy manévru:
. %¥elni manévr, obchvat a obejit{.

Telni manévr je druhem manévru, ktery md vytvo¥it p¥iznivé
podmfnky k provedeni Eelnfho dderu, a to jak na zad4dtku bojové
operace, tak i v jejfm prdb¥Ehu.

Obchvat je manévr k provedenf Yderu do jednoho nebo obou bokt
a bli¥%fho ty¥lu nep¥ftele. Provddi se zpravidla v taktické€ a pa-
1ebnd soufinnosti s motost¥eleckymi vojsky dtoffcimi Telnd.

Obejitf, ve srovndni s obchvatem, je hlub¥i manédvr do boku a
t¥lu nep¥ftele, ktery se taky provddf v sou¥€innosti s vojsky
WtoELfcimi Eeln@.

OBRANA

Obrana je druh boje, jehoZ cilem je odrazit dytok nepY¥itele,
ktery je v pF¥evaze, zpfisobit mu znadné ztrdty, udrZet dfleZité
prostory terénu, a tim vytvo¥it p¥fznivé podminky pro pFfechod k
dtoku.

Tankovy prapor svymi bojovymi vlastnostmi p¥edstavuje dtotny
prost¥edek, je viak schopen rovne€Z Usp®En¥€ plnit dkoly v obranném
boji. M8@Ze byt pouZit nejen v druhém sledu (zdloze) k provedeni
protiztefe, ale i v prvnim sledu, kde pln{ dkol udrZet zaujaty
prostor.

Prapor p¥echdzi do obrany zpravidla v prib¥hu dtotného boje v
sestav® pluku nebc samostatn¥, aby odrazil protizte?d siln€j¥iho
nep¥itele a udrZel zaujaty prostor. V nevyhodnych podminkdch, nap¥.
v dfisledku nedspE3ného vedeni st¥etného boje, miZe prapor pFfechdzet
do obrany s dkolem zabezpe@it vyjiti z boje a odchod hlavnich sil
pluku. V tom p¥fpad¥€ pfisobi jako zadni voj.

Podle Teskoslovenske€ doktriny, doloZené zkuSenostmi z druhé
svEtové wvdlky, bude tankovy prapor pfechdzet do obrany z p¥imého
dotyku s nep¥itelem, pod p¥imym pisobenim jeho palebnych prost¥ed-
k&, pFinucen tak ufinit pFevahou jeho sil a prost¥edkfi. Vv tEchto
podminkdch se obrana organizuje a zaujimd v krdtkych Tasovych
1hfitdch v narychlo p¥ipravenych nebo vibec v nepfipravenych pozi-
cfch, zatimco prapor vede aktivni bojovou €innost s nept¥itelem.

Vv n¥kterych p¥ipadech mfi¥e prapor pTfechdzet do obrany mimo
dotyk s nep¥itelem, nap¥. v sestave druhého sledu pluku.

13
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¥i¥ka a hloubka rajdnu obrany je ddna schopnosti tank® a tank
vy¥ch jednotek ni%it nep¥itele na urfené Eifce a udrZet uréity
prostor.

Obranny rajén praporu tvo¥i vyhodn¥ umistEné op&rné body rot
a Tet. Mezery mezi rotnimi a Eetovymi op¥rnymi body jsou pY¥ehra-
zeny palbou tankovych kandénfi, kulometf a taky palbou d€lost¥e-
lectva a ¥enijnimi zdtarasy. V mezerdch jsou rozmist@&ny motostTe
lecké jednotky s protitankovymi prost¥edky a pF¥ipravené tankové
1é€ky.

Tank v obran¥, v sestav¥® jednotky, je schopen vést boj s dveé-
ma i vice Wto¥ifcimi tanky nep¥itele. Tanky dtoTi s mezerami 100
a¥ 200 m.

Tankovd Beta md¥e brd&nit op3rny bod FEiroky 300-400 m a hlubok
kolem 300 m.

OpErny bod tankové roty miZe dosahovat ¥ifky p¥ibliZn¥€ 1000 m
a hloubky 500 m. Tanky jsou rozmist®ny tak, Ze mlZou vést d€inny
boj s nep¥itelem p¥ed p¥ednim okrajem obrany.

Mezery mezi rotnimi op¥rnymi body mohou dosahovat p¥ibliZn¥
1-1,5 km a proto prapor je schopen brdnit dsek Biroky p¥ibliZné
5 km. V terénu, ktery neni dostupny pro Binnost dtoficich jedno-
tek, pFi obran¥ zabezpefovaciho pdsma a na p¥edsunutém postaveni,
¥i¥ka obrany praporu mf¥e byt i vEtSE{ neZ 5 km.

Hloubka rajdénu obrany praporu se urduje hloubkou op¥&rnych bod
rot prvniho sledu, vzd4dlenosti zdlohy a terénnimi podmfinkami.

14
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PRACTICE EXERCISE 1

Instructions: - You will hear 12 Czech sentences on tape. Stop
the tape and repeat each sentence until you can say it with ease,
then select the correct English translation of each sentence.
List your answer (a, b, ¢, or d) on a separate piece of paper.

1. The attack is a decisive factor in

a. seizing enemy territory.

b. preparing the enemy's defeat.

¢. bringing the enemy to his knees
4. attaining victory over the enenmy.

“

2. The purpose of the offense is the complete destruction

a. of the enemy in his defensive positions.

b. of the enemy and the seizure of important areas.

Co of the enemy's positions and occupation of his areas.
d. of enemy weapons in their firing positions.

3. Tank units are especially_suitea for the offense because
they possess

a. speed and great resistance to enemy fire.

b. maneuverability and high operational life.

c. heavy fire, striking power, and high mobility.
d.. resistance, maneuverability, and durability.

4. Nuclear weapons can create

a. chaos in the enemy combat formation.

b. breaches and gaps in enemy combat' formations.
Ce. a very unfavorable situation for the enemy.
4. gaps to be exploited by the enemy.

5. A tank battalion can exploit the gaps created by nuclear
strikes to

a. bypass the enemy positions.

b. deploy behind enemy positions.

Ce destroy the enveloping enemy.

d. carry out shallow and deep envelopments.
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6. There are two types of attack:

a. attack from the march, and attack from direct enemy
contact.

b. attack from direct enemy contact and out of the reach
of enemy contact.

C. attack right after the march and before direct enenmy

contact.
d. attack while on the march and right after direct enemy

contact.

7. The purpose of the defense is

a. to rout the attacking enemy and prevent our own losses

b. to infict heavy losses upoln the enemy so as not to
allow him to attack.

c. to repel the enemy attack and cause him considerable
losses.

4. to hold important areas and inflict heavy losses on tt
enemy.

8. As a rule, the tank battalion switches to the defense in
order to

a. counterattack a stronger enenmy.

b. repel the counterattack of a stronger enemy.
c. prepare for a counterattack.

4. inflict losses on a stronger enemy.

9. In some cases, the battalion can switch to the defense

a. when not in contact with the enemy.

b. to avolid contact with the enemy.

C. in second echelon formation of the regiment.
d. to enter into direct contact with the enemy.

10. In the .defense, a single tank may-engage
a. no more than two enemy tanks.
b. one or two enemy tanks.

c. two or more attacking tanks.
d. many attacking tanks.
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11, In the defense, tanks are depioyed

a. to destroy the enemy in front of the defense.

b. to engage the enemy within their defensive area.

c to carry out combat with the enemy tanks penetrating
the defense.

d. to engage the enemy in front of the forward edge of
the defense.

12. The depth of a battalion's defensive area is determined by

ae. the depth of the company defensive area and the terrain
conditions.

b. the depth of the company strongpoints in the first
echelon, the distance of the reserves, and the terrain
conditions.

Ce the width and depth of the company defenses and the
terrain.

d. the depth of the battalion's strongpoints, first
echelon strongpoints, and the terrain conditions.

19



TT
PE:

'PRACTICE EXERCISE 2

Instructions: “Changeveach of the following sentences into ques-

tions in Czech. Each question should focus on the underlined part
of the sentence.

10.

1.

12.

Czechs consider the attack as the primary type of combat.

Of fensive combat is conducted with maximum effort, in close
cooperation with all types of troops, day and night, and in

any weather.

During the course of offensive combat unexpected and fast

changes in the situation come about.

-

Nuclear weapons can silence main enemy installations.

The tank battalion can carry out shallow and deep envelopment

As the result of our use of nuclear weapons, the enemy defen:
will lose its resistance.

In the defense, a tank battalion can be used in the second
echelon to carry out a counterattack.

As a rule, the tank battalion will switch to the defense fror
direct contact with the enemy.

The width (frontage) and depth of the battalion defensive
area is determined by the tanks and tank units' capabilities
to destroy the enemy.

The tank platoon can defend a strongpoint 300-400m wide and
around 300m deep.

The gaps between company strongpoints can be one to 1.5 km
wide.

The tank battalion is capable of defending a sector five km-

wide.
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PRACTICE EXERCISE 3

Tnstructions: On the tape you will hear 12 questions in Czech.
These gquestions are based on information from Study Resource 2.
Write the answers to these questions in English. You may refer

to Study Resource 2 as necessary.

Otok z chodu

Attack from the march
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STUDY RESOURCE 3

Instructions: The following is a continuing interrogation. PW,
MSG Josef BTimek is being interrogated about the offensive and
defensive tactics currently employed by his unit, the 57th Tank
Battalion. Read the dialog several times until you are familiar
with its content. Then listen to the dialog on tape while
following the printed text.

l. I: Pane nadrotmist¥e ¥Timku, jakou dlohu hraji tankovéd
jednotky 57. tpr?

S: Uloha tankovych jednotek 57. tpr je stejnd, jako dlohy
jiny¥ch tankovych jednotek Eeskoslovenskych ozbrojenych
sil. To znamend, v prfib¥hu boje poskytnout ddernou silu
pozemnim vojskfm kdykoliv a kdekoliv to je zapotFebi.

Z tohoto hlediska n&¥kdy kombinujeme organickou palebnou
sflu ¢ rznymi druhy jinych podpflrnych paleb, abychom
splnili dto¥né dkoly.

2. I: Co tim p¥esn?® myslite, kdy%¥ ¥ikdte "rfizné druhy jinych
podplrnych paleb"?
S: To znamend ddery konvenéniho d8lost¥electa a wvzduiné
ddery, stejn¥d jako jaderné ddery.
3. I: Kdy¥, jak ¥ikdte, tankové jednotky poskytujf "ddernou
sflu", jakou dto¥nou taktiku potom pouZivd 57. tpr?
S: Jsou t¥i zdkladni druhy dtodné taktiky pouZivané 57. tpr
BTelni Ytok, obchvat a obejiti.
4. I: Za jak¥ch podminek se uskuteBhuje Telni dtok?

S: Obvykle se provddi, kdy%¥ nep¥fitel nemd zranitelné boky.

5. I: ©Pro€¥ ¥ikdte "obvykle"?
" 8: Proto¥e Telni dtok se ml¥e provddEt jako vedleij¥FL uWsilf
nebo klamny¥ dtok na podporu hlavnich sil, kterd& provdd@&j:
obchvat.

6. I: Co je cilem €Telniho dtoku?

S: Jeho cilem je vytvoF¥it mezeru v nep¥4dtelskd obran¥ pro
pozd83j¥L vyuZiti k obchvatflim a obejitim.
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7. I: Co je obchvat?
§: Obchvat je ménd hluboky manévr, nami¥eny proti jednomu

nebo ob&ma bokfm nep¥itele a je pf¥imo podporovdn palbou
jednotek dtoEicich CelnE.

8. I: Co je obejiti?

S: Obejitf je hlub3i manévr do bokfl a ty¥lu nep¥ftele. Pro-
v£dT se v taktické¢ sou¥innosti s vojsky ftoEfcimi €eln¥E,
ale norm&1ln¥ mimo dosah jejich podpf@irné palby.

9. 1I: Jaké p¥ipravy se provddEjf ke splnéni bojového udkolu bez
palebné podpory?

S: Sfly, které provdd&jf obejitf, jsou k této nezdvislé
akci zesfleny a jejich taktické operace se koordinujf s
jednotkami WtoEicimi Celnd.

10. I: Zatim jsme mluvili jenom o dtodnych bojovych udkolech tan-
kovych jednotek. Jaké€ jsou bojové dkoly 57. tpr v obran®?

§: Obsazenf a udr¥eni dob¥e nebo sp¥En¥ ptipravenych posta-
veni nebo prostori, ze kterych je moZno zpfisobit dtoéni-
kovi ztrdty, odrazit jeho dtoky a vytvo¥it p¥{iznivé
podmfnky k provedeni protidtoku.

11. I: Co mi¥e pFinutit velitele pY¥ejft do obrany?

S: Jsou rizné dfivody pro p¥echod do obrany; p¥edn® - Tekdni
na posily p¥i pFechodném zastaveni nep¥{ftelem v prf@bEhu
boje, nebo ddnf k disposici ¥4st svych sil jinym sloZkdm
bojov€ sestavy, které UtoTi.

12. I: Xteré jiné dfvody mohou pTinutit velitele. k pF¥echodu do
obrany?

S: V1dk&ni nep¥ftele do nevyhodné prostorové situace, ve které
ho mohou manévrujfci sIfly zniTit.

13. I: Jakou obrannou taktiku pouZival 57. tpr?

S: Provdd&li jsme pouze- "sp&%¥n€ zaujatou obranu” .

23




14.

15.
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Co je dfelem sp¥Zn¥ zaujaté obrany?

Normdln¥, zabrdnit nep¥iteli v p¥istupu do urditych pro-
storfl; ale péstupné vyCerpdvdni sil nepFitele je stdle
hlavnim cilem ka¥dé obrany.

Jakou jinou obrannou taktiku midZe pouZivat 57. tpr?

Jiny druh obrany je "pldnovand obrana®.

Jaky je rozdil mezi pldnovanou (vybudovanou) a spé3End
zaujatou obranou?

Rozdil je v pF¥echodném charakteru obrany. Jinymi slovy,
sily, pY¥echdzejici do spE¥nE zaujimané obrany, budou TEas
v dotyku s nep¥itelem. V takové€ situaci bude nesnadné,
ne-li nemo¥né, vybudovat bezpeénostni pdsmo. Poda¥i-1li
se ho vybudovat, jeho hloubka nebude zdaleka takovd, jak«
p¥i pldnované obran®. Navic, dalekd palby nebudou hrd4t
tak d8le¥itou dlohu, jako b¥hem pldnovand obrany, protoZ
sfly protivnika budou na dost¥el ru¥nich zbrani.

Jakou organizaci md tankovy prapor v obran¥?

Za normdlnich podminek jsou tanky v obran® organizovdny
tak, Ze dv€ tankové roty jsou vpFedu a jedna je vzadu

(v zdloze). Jsou v¥ak p¥ipady, kdy terén bude ur€ovat
rozmist¥ni praporu. V takovém p¥ipad® ml¥e byt jen jedn:
rota vp¥edu a dv¥ vzadu. Jedna Teta zadni roty ml¥e
zpoddtku b¥t v obran¥ p¥ed hlavnim obrannym postavenim a
pozd¥ji se stdhnout.

Jak velky obranny rajén m& tankovy prapor?

Norm&£ln¥ tankovy prapor mii%¥e brdnit prostor 3000 aZ 5000
Biroky a 2000 a¥ 4000 m hluboky. 'V hloubce obranného ra-
jénu organizuje tankovy prapor pdsma vzdjemné podpory,
ka¥2dé€ a¥ 1000 m Sirokd€ a 1000 m hlubok€. Tam, kde obrani
rajén praporu je 3000 m Siroky, mezery mezi pozicemi rot
mohou byt a¥ 800 m ¥irokd, ale tyto mezery 3jsou chrdn@Eny
pFekdZkami a palbou.

Co tim p¥esn¥® minite, kdyZ ¥ikdte, "chrdn¥€ny pF¥ekdZkami
a palbou"? ’

Hovo¥im o takovych v&cech, jako konven¥ni d€lost¥electvo
a miny v kombinaci s nevybu¥nymi pFekdZkami.
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Jak€ obranné operace mi¥e provddEt tankovy prapor?-

Tankovy prapor mi¥e dostat rfizné obranné udkoly: zniTit
p¥imou palbou nebo protidtokem nep¥itele, ktery pronikl
do obranného postaveni, napadnout nep¥itele z 1éT€ky,
uzav¥it mezery zplsobené nep¥dtelskymi jadernymi ddery a
poskytnout nep¥imou palebnou podporu (motostFeleckym
jednotkdm) .

Co bere velitel v dvahu p¥i p¥ipravE& obrany?

P¥i organizovdni a z¥izovdni obrany, ¥s. velitel musi
vzit v dvahu ndsledujici €initele: situaci nep¥itele,
bojovy dkol, terén, vliastni vojska a Tas.

Jak tito ¥initelé ovliviiuji velitele?

D¥ive, ne¥ je formulovdn n&jaky urdity pldn, velitel musi
urfit, ¥eho musi dosdhnout a jak dlouho to bude muset
dr¥et. Taky nep¥itel a jeho zbran¥® ovlivni, jaké zbran¥,
druh a mno¥stvi materidlu na zdtarasy, bude velitel pot¥e-
bovat. Terén a vegetace (porost) také€ ovlivni slo¥eni
sil a jejich rozmist¥dni. WNavic, vojska, kterd jsou k
dispozici k nasazeni do obrany, v&Zn¥ ovliivni rozmist¥nl
sil. A kone¥n¥ Tas, ktery bude k dispozici, sladf vSechny
tyto slo¥ky dohromady. :
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PRACTICE EXERCISE 4

Instructions: Close the book, rewind the tape, and listen to Stud
Resource 3 again. Based on what you hear, write an answer in Czec
for each of the following questions.

1. Jakd je dloha tankovych jednotek TYeskoslovenskych ozbrojenych
silv? :

2. Jakou dWto¥nou taktiku pouZival 57. tpr?

3. Za jakych podminek se uskute¥fuje ¥Telni dtok?
4. Jaky je rozdfl mezi obchvatem a obejitim?

5. Jak€ jsou bojové€ dkoly 57. tpr v obran¥?

6. Co mi¥e p¥inutit velitele pF¥ejit do obrany?

7. Jakou obrannou taktiku pouZival 57. tpr?
8. Jakou jinou obrannou taktiku pou%ival 57. tpr?

9. Jaky¥ je rozdil mezi pldnovanou (vybudovanou) a spé¥n¥ zaujatc
obranou?

10. Jakou organizaci m& tankovy prapor v obran¥?
11. Jaké€ obranné operace mfi¥e provdd¥t tankovy prapor?

12. Co bere velitel v dvahu p¥i p¥ipravE obrany?
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PRACTICE EXERCISE 5

Instructions: For each'of the following statements, write a ques-

tion in Czech that would elicit the underlined information.

10.

11.

12.

Tank units sometimes combine their organic fire power
with various types of supporting fires.

A frontal attack is occasionally conducted as a secondary
effort or feint in support of a main force.

A deep envelopment is conducted in tactical coordination with
units attacking frontally. ‘

The objective of a hasty defense is the denial of enemy access
to specific areas.

It is very difficult to establish a security zone when going
over to a hasty defense.

The depth of a security zone in the deliberate defense will
be much greater than that of a security zone in a hasty

defense.

The opposing forces in the hasty defense are within small-arms
range.

When terrain determines the disposition of the battalion in

*he defense, there may be one company forward and two in the

reare.

Within the defensive area, the tank battalion organizes
mutually supporting company defensive areas.

A tank battalion can carry out various defensive operations,
including engaging the enemy from ambush, and providing fire

support to motorized rifle troops.

The commander must take many factors into consideration in
setting up a defensive area. :

The troops avallable for commitment to the defense seriously

affect the force dispositions.
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-PRACTICE EXERCISE 6

Instructions: 'On tape you will hear a short interrogation dialog.
The questions will be in English and the responses in Czech. Writ
a Czech translation for each question and an English translation
for each response. Stop the tape to write each translation.

PribliZovdni

Approach
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KEY TO VOCABULARY PRETEST

Here are the translated sentences with underlined key words or
phrases.

1. You must document your application with a certificate proving
your military service.

2. They managed to withdraw the troops in the designated time.

3. The 2nd Tank Battalion wasn't utilized for the deep
envelopment.

4. The (close) envelopment was vigorously carried out.

5. A withdrawal can be carried out only on the superior com-
mander's order.

6. The enemy’s resistance at the strongpoints had decreased
considerably.

7. After switching to the defense, the battalion had to repel
the enemy attacks.

8. In the course of combat, the battalion lost three tanks.
9. Every unit has its (own) defensive area.
10. Our commander has great organizational abilities.

11. We can create breaches in the enemy's defenses by using
nuclear weapons.

12 After the relief, the unit left to go to a rest area.

13. Tanks are noted for their great mobility.

14. The tank battalion attacked the enemy with all its might.

15. The enemy had forward positions in front of the FEBA.

16. Concealed and fast envelopment has a surprise effect.

17. 1t is difficult to attack without having a superior force.

18. Mines were laid in the gaps within the defensive area.

19. In the meeting engagement there are unexpected and fast
changes in the situation.
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20.

21.

22.

23.

24.

25.

26.

27.
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During the attack from the march, the commander must make
fast decisions.

The attack from direct contact is conducted in a complex and
fast-changing situation.

A holding position has to afford good protection against ene
reconnaissance.

A good defense has to have advantageously located firing
positions.

The battalion moved out (thrust out) from the attack positio:

A disengagement is covered by units left for a certain time
in contact with the enemy. .

A rear guard (security detachment) provides rear security.

In spite of the opponents' attacks, we managed to hold the
occupied area.
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KEY TO VOCABULARY POSTTEST
Translation of the vocabulary follows:
breach deep envelopment attack from the
march
superior force to the attack from surprising effect
direct contact
support after break-off
ability of the battalion
attack position holiding position
advantageously located
resistance to repel
by .close envelopment
meeting engagement for a relief
: by rear security detachment
time forward position
in the course of
withdrawal in the battalion
with maximum effort defensive area

The correct selection and sequence of words with their correct
endings follows.

doloZte Schopnosti praporu rajénu obrany
odolnost Vv pribEhu vy¥choziho prostoru
1hdt¥E s plnym vypétim sil p¥ekvapivy dfinek

o vyst¥iddnf do dWtoku s p¥imého dotyku vy8kdvacim postaveni

Translation of the sentences.

1. Document your sick leave application with a doctor's
certificate.

2. After a serious illness the body loses its resistance.

3. They did not receive the parts they ordered in the stated time.

4. In this situation, request for a relief for the units is the
best solution.

S. The ability of the battalion to defend itself was limited by
terrain conditions.

6. Tanks play a very important role in the course of combat.

7 . The offense is carried out with maximum effort.

31



10.

11.

12.

T
VPT Ke:

The battalion switched to the attack from direct contact.

In the battalion defensive area are advantageously located
company and platoon strongpoints.

From the attack position, the tanks of the 2nd Tank Battalio
moved out for the attack.

The unexpected use of nuclear weapons had a surprising effec

The tank battalion replenished its ammunition and POL while
in a holding position.
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TRANSLATION OF STUDY RESOURCE 2

TACTICS OF A CZECH TANK BATTALION

THE ATTACK

The Czechs, like the Soviets, consider the attack to be the main
type of combat which is a decisive factor in attaining victory over
the enemy. The offense is conducted at a high tempo, and into a
considerable depth of the enemy defenses, with the purpose of com-
pletely destroying the enemy and seizing important areas. It is
carried out with maximum effort, in close coordination with all
types of troops, day and night, and in any weather. The offense
is of a highly maneuverable nature, with fast and unexpected changes
in the situation. Tank .units are especially suited for this type
of combat because of their heavy fire power, strike capability, and
high mobility.

The use of nuclear weapons determines  the conditions of the at-
tack. These weapons can silence main enemy installations and can
create breaches and gaps in the enemy's formation. A tank battal-
ijon can operate in the direction of nuclear strikes, or carry out
shallow or deep envelopments with the purpose of attacking the
flanks and rear of the main forces of the enemy to destroy him.

In the event that nuclear weapons won't be used, it will become
necessary to carry out longer fire preparation, to build up a su-
perior force, and carry out attacks in narrower zones (of advance).
In that case, one of the most difficult tasks will be to break
through the forward edge of the enemy's defenses.

In contemporary military theory and practice there are two types
of attack: attack from the march, and attack from direct enemy
contact.

As a result of our use of nuclear weapons, the defending enemy
loses its resistance, regardless of its degree of preparation,
resulting in conditions favorable for the attack from the march.
The concealed preparation for the attack is assured, the effect
of surprise is attained, and the extent of engineer (troop) in-
volvement in the vicinity of the forward edge of the battle area
is minimized.

Tank battalions can also attack from the march while relieving
troops in the defense, or directly from the defense. In that case,
the tanks will take up holding positions in the depth of their own
defense and switch to the attack from .the march without taking up
the attack position (jump-off position).
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Attack from direct contact comes about primarily when the ter-
rain does not permit the conducting of an attack from the march,
but does permit concealed occupation of positions in the vicinity
of the forward edge of the battle area. Also, when necessary, the
battalion can switch from the defense to the attack.

Tank units employ three main types of maneuvers in the attack:
frontal maneuver, close envelopment, and deep envelopment.

The frontal maneuver is supposed to create favorable conditions
for conducting a frontal assault, either at the beginning of a
combat operation or during its course.

The close envelopment is the maneuver in which one or both
flanks, and the (enemy) rear are attacked. As a rule, it is car-
ried out with tactics and fires coordinated with motorized rifle
troops attacking frontally.

The deep envelopment, in comparison with the close envelopment,
is a deeper maneuver into the flank and rear of the enemy which is
also carried out in coordination with the troops attacking frontal

THE DEFENSE

The defense is a type of combat action, the goal of which is
to repel the attack of an enemy who has superior force, cause him
considerable losses, hold important (terrain) areas, and by that,
create favorable conditions for counterattack.

A tank battalion with its combat capabilities, represents an
attacking force. At the same time, it is capable of fulfilling
defensive tasks (missions). It can be used not only in the seconc
echelon (as a reserve) to carry out a counterattack, but also in
the first echelon where its task is to hold an occupied area.

As a rule, the battalion switches to the defense in the course
of offensive combat, either in regimental formation or indepen=-
dently;,; in order to repel the counterattack of a stronger enemy
and to hold an occupied area. Under unfavorable conditions, for
instance as the result of an unsuccessful meeting engagement, the
battalion can switch to the defense with the mission to support
disengagement and withdrawal of the regimen’al main force. In
that case, it operates as a rear security detachment.

According *to Czech doctrine, supported by World War II combat
experience, the tank battalion will switch to the defense while
under enemy fire, being forced to do so by the. enemy's superior
force and armament. Under these conditions, the defense is orga-
nized and taken up guickly in hastily prepared or unprepared posi-
tions while the battalion is still actively engaged with the enem:

In some cases, the battalion can switch to the defense while
out of contact with the enemy, for instance in the second echelon
formation of the regiment.
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The width (frontage) and depth of the battalion defensive area
is determined by the tanks' and tank units' capabilities to destroy
the enemy on a designated frontage and to hold a certain area.

The battalion defensive area consists of advantageously located
company and platoon strongpoints. The gaps in between company and
platoon strongpoints are covered by tank gun fire, machinegun fire,
and also by artillery fire and engineer obstacles. There are mo-
torized rifle troops deployed equipped with antitank weapons, and
prepared tank ambushes, in those gaps.

The tank in the defense, in unit formation, is capable of en-
gaging two, or even more, attacking enemy tanks. The gaps between
attacking tanks are from 100 to 200m.

The tank platoon can defend a strongpoint 300-400m wide and
around 300m deep-.

The size of a tank company strongpoint can reach approximately
1,000m frontage and up to 500m depth. The tanks are deployed in
such a way that they can carry out effective combat with the eneny
in front of the forward edge of the defense.

The gaps in between the company strongpoints can reach approxi-
mately one to 1.5 km, and therefore the battalion is capable of
defending a sector approximately five km wide. In terrain which is
inaccessible to attacking units, during the defense of a security
zone, and in forward (defensive) position, the width (frontage)
of a battalion defensive area can be even greater than five km.

The depth of a battalion dafensive area is determined by the

depth of the company strongpoints in the first echelon, the dis-
tance of reserves, and terrain conditions.
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KEY TO PRACTICE EXERCISE 1

Here are the sentences you heard on the tape in Czech and the
correct translations.

1. Utok md& rozhodujici vyznam pro dosaZeni vit&zstvi nad
nep¥itelem.

d. The attack is a decisive factor in attaining victory
over the eneny.

2. Cflem dWto¥ndho boje je Wplné€ zni¥eni nep¥itele a ovliddnuti
d@leZit¥ch prostori.

b. The purpose of the offense is the complete destruction
of the enemy and the seizure of important areas.

3. Tankové jednotky se zvld5t¥ hodi pro dtok, protoZe se vyzna-
€uji velkou Wdernou a palebnou silou a vysokou pohyblivosti.

Ce. Tank units are especially suited for the offense be-
cause they possess heavy fire, striking power, and hig
mobility. .

4. Jadernd zbran¥ mohou vytvo¥it trhliny a mezery v bojové
sestav® nep¥itele.
b. Nuclear weapons can create breaches and gaps in enemy
combat formations.
5. Tankovy prapor m¥e vyuZit mezer, vytvo¥enych jadernymi ddery

k provedeni obchvatfi a obejiti.

d. A tank battalion can exploit the gaps created by nucle
strikes to carry out shallow and deep envelopments.

6. Existujf dv¥ formy dtoku: dWtok z chodu a dtok z pFimého dotyk

a. There are two types of attack: attack from the march,
and attack from direct enemy contact.
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7. cflem obrany je odrazit dtok nep¥itele a zplsobit mu znadéné
ztrdty.

Ce The purpose of the defense is to repel the enemy at-
tack and cause him considerable losses.

8. Prapor pFechdzi do obrany zpravidla, aby odrazil protizte®
8iln¥j¥iho nep¥itele.

b. As a rule, the tank battalion switches to the defense
in order to repel the counterattack - of a stronger: enemy.

9. V n¥kterych p¥ipadech mii¥e prapor pFechdzet do obrany mimo
dotyk s nepFitelem.

ae. In some casés, the battalion can switch to the defense
when not in contact with the enemy.

10. Tank v obran¥® je schopen vést boj s dvema i vice dto€icimi
tanky.

Coe In the defense, a single tank may engage two or more
attacking tanks.

11. Tanky v obran¥d jsou rozmist¥ny tak, Ze mi¥ou vést boj s. nep¥i-
telem pFed pFednim okrajem obrany.

d. TIn the defense, tanks are deployed to engage the eneny
in front of the forward edge of the defense.

12, Hloubka rajénu obrany praporu je urdena hloubkou op&8rnych
bodf rot prvniho sledu, vzddlenosti zdlohy a terénnimi
podminkami.

b. The depth of a battalion's defensive area is deter-
mined by . the depth of the company strongpoints in the
first echelon, the distance of the reserves, and the
terrain conditions.
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KEY TO PRACTICE EXERCISE 2

Here are the translations of the English statements, acceptable
Czech questions, and their translations.

1.

Techoslovdci poklddaji dtok za hlavni druh boje.

Za co poklddajf Techoslovdci dtok?

What do Czechs consider the attack to be?

Utodny boj se provddf s plnym vypétim sil, v Uzk€ soufinnosti
vEech druhfi vojsk, ve dne i v noci a za jak€hokovliv poTasi.
Jak se provddi dto€ny boj?

How is offensive combat carried out?

B¥hem Wto¥ného boje nastdvajf ndhlé a rychl€ zmé&ny v situaci.
Jak€ zm¥ny v situaci nastdvaji b&hem dtotného boje?

What kind of changes in the situation come about during the
course of offensive combat?

Jédérné zbran® mohou umlBet hlavni objekty nep¥fitele.

Které zbran® mohou umléet hlavni objekty nep¥itele?

Which weapons can silence main enemy installations?

Tankovy prapor miZfe provdd&t obchvaty a obejiti{.

Kterd (Jak€) manévry mid¥e provddét tankovy prapor?

Which maneuvers (what) can the tank battalion carry out?

V d8sledku pou¥Ziti jadernych zbrani ztrdc{ obrana neptfitele
svou odolnost.

v dflsledku €eho ztrdci obrana nep¥itele svou odolnost?

What will cause the enemy defense to lose its resistance?
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7. V obran& tankovy prapof m@¥e byt pou¥it ve druhém sledu
kx provedeni protizteTe.

K Temu midZe byt tankovy prapor pouZit v obrang ve druhém sledu?

In the defense, what can the tank battalion in the second
echelon be used for?

8. Tankovy prapor bude zpravidla pfechdzet do obrany z p¥imého
dotyku s nep¥itelem.

Kdy bude ‘tankovy prapor zpravidla p¥echdzet do obrany?

As a rule, when will the tank battalion switch to the defense?

-

9. ¥i¥ka a hloubka rajénu obrany praporu je ddna schopnosti tankd
a tankovych jednotek ni¥€it nep¥itele.

¥im je d4dna ¥ifka a hloubka rajdénu obrany praporu?
Wwhat determines the width (frontage) and the depth of the
battalion defensive area?
; ﬁfff? 10. Tankovd Eeta mi¥e brdnit opdrny bod Siroky 300-400 m a hluboky
L kolem 300 m.

Jak velky (hluboky a ¥iroky) op8rny bod mi%fe brdnit tankovd
Teta?

How big (wide and deep) a strongpoint can a tank platoon
defend?

11. Mezery mezi rotnimi op¥rnymi body mohou byt 1 - 1,5 km
Eiroké€.

Jak 3iroké mohou byt mezery mezi rotnimi op¥rnymi body?

How wide can the gaps be between company strongpoints?

12. Tankovy prapor je schopen brdnit dsek FTiroky 5 km.
Kterd jednotka je schopna brdnit dsek EBiroky 5 km?

Which unit is capable of defending a five km-wide sector?
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KEY TO PRACTICE EXERCISE 3

are the questioné you heard on the tape in Czech, their Eng-
translations, and acceptable English answers.

Jak se vede dto¥€ny boj?

‘How is the offense conducted?

At a high tempo, into a considerable depth of the enemy de-
fense, with the purpose of completely destroying the enenmy
and seizing important areas.

Jaky charakter m& dtodny boj?

What is the nature of the offense?

O0f a highly maneuverable nature, with fast and unexpected
changes in the situation.

Co urfuje podminky dtoku?

What determines the conditions of the attack?

The use of nuclear weapons.

Co se bude muset provdddt v podminkdch, kdy nebudou pouZity
jaderné zbran¥?

Wwhat will have to be done in the event nuclear weapons won't
be used?

It will become necessary to carry out longer fire preparatior
to build up a superior force, and carry out the attack in
narrower zones (of advance).

Na jakém sm¥ru mAZe pfisobit tankovy: prapor?

In what direction can the tank battalion operate?

In the direction of nuclear strikes.
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Kter€ jsou t¥i hlavni druhy manévru pouZivané tankovymi
jednotkami v dtoku?

Which are the three main types of maneuvers used by tank units
in the attack?

Frontal attack, close envelopments, and deep envelopments.
Jaky prost¥edek pF¥edstavuje tankovy prapor svymi bojovymi
vlastnostmi?

What type of a force does the tank battalion with its combat
capabilities, represent?

An attacking force.

Jaky bude dkol tankového praporu po pFechodu do obrany v di-
sledku nedWsp¥Znélio vedeni st¥etného boje?

What will be the mission of a tank battalion after switching
to the defengse as a result of an unsuccessful meeting en-
gagement?

To support disengagement and withdrawal of the regimental
main force.

Co tvo¥i obranny rajén praporu?

What comprises the battalion defensive area?

Advantageously located company and platoon strongpoints.
Jak€ ¥i¥ky a hloubky mfi¥e dosahovat op&rny¥ bod tankové roty?
What frontage and depth can a tank company strongpoint reach?
1,000m in width and up to 500m in depth.

¥im jsou p¥ehrazeny mezery mezi rotnimi a Tetovymi op&rnymi
body?

What are the gaps in between company and platoon strongpoints
covered by?

By tdnk gun fire, machinegun fire, artillery fire, and engi-
neer obstacles.
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12. Jake€ jednotky jsou rozmIstEny Vv mezerdch?
What units are deployed in those gaps?

i Motorized rifle troops with antitank weapons.

Tank v dtoku

Tank in the attack
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TRANSLATION OF STUDY RESOURCE 3

MSG ¥imek, what is the role of the tank units within
the 57th Tank Battalion?

The role of the tank units within the 57th Tank Battalion
is the same as that of other tank units within the Czecho-
slovak forces. That is: To provide a striking force for
the ground troops wherever and whenever it is needed during
an operation. In that respect, we sometimes combine our
organic fire power with various types of supporting fires
in order to accomplish our offensive mission.

What exactly do you mean when you say "various types of
supporting fires"?
That means: conventional artillery and air strikes, as

well as nuclear strikes.

If,as you say, tank units provide a "striking force," then,
what offensive tactics have been employed by the 57th Tank
Battalion?

There are three basic forms of offensive tactics employed
by the 57th Tank Battalion: the frontal attack, the close
envelopment,and the deep envelopment.

Under what conditions is the frontal attack utilized?

It's normally employvyed when the enemy does not have
assailable flanks.

Why do you say "normally"?

Because the frontal attack may be used as a secondary ef-
fort or feint in support of a main enveloping force.

What is the objective of a frontal attack?

Its purpose is to create a gap in the enemy's defenses for
subsequent exploitation by deep or close envelopments.
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What is a close envelopment?

The close envelopment is a shallow maneuver directed
against one or both flanks of an enemy force and is di-
rectly supported by fire from anits attacking frontally.

What is a deep envelopment?

The deep envelopment is a maneuver directed against the
flanks and rear of the enemy. It is carried out in tacti
cal cooperation with units attacking frontally, but nor-
mally out of reach of close fire support.

What type of preparatory measures are taken to accomplish
the mission without close fire support?

A force executing a deep envelopment is reinforced for
this independent action, and coordinates its tactical op-
erations with units attacking frontally.

So far, we've only talked about the tank units'® offensive
role. What is the defensive role of the 57th Tank
Battalion? ’

To occupy and hold well-prepared oxr hastily prepared posi
tions or areas from which to inflict losses on the attack
repel his attacks, and create favorable conditions for
launching a counteroffensive.

What may force a commander to go to the defense?

There are various reasons for going to the defense: to
await additional resources when temporarily halted by the
enemy during the course of an offensive; or to free re-
sources for other elements of the combat formation who
are on the offensive.

Wwhat other reasons may force a commander to go to the
defense?

To lure an enemy into a disadvantageous position where
maneuvering forces can destroy him.

What defensive tactics have been employed by the 57th

Tank Battalion?

We “ve only used the hasty defense.
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What is the objective of a hasty defense?

Normally, denial of enemy access to a specific area; how-
ever, attrition of the enemy force is still essential to
any defense.

What other defensive tactics may be employed by the 57th
Tank Battalion?

Another form of defense is the deliberate (planned)
defense. :

What is the difference between a deliberate and hasty
defense?

The differences are related to the temporary nature of the
defense. In other words, a force going over to a hasty
defense will, frequently, be in contact with the enemy.

In that situation it will be difficult, if not impossible,
to establish a security echelon (zone). If established,
its depth will not be nearly as great as in the deliberate
defense. Additionally, long-range fires will not play the
part they did in the deliberate defense, as the opposing
forces will be within small-arms range.

What is the organization of a tank battalion in the
defense?

Organization for the defense is normally with two tank
companies forward and one company in depth (reserve).
There are occasions when terrain will dictate the dispo-
sition of the battalion; therefore, there may be only one
company forward and the other two in the rear. A platoon
of the rear company may initially defend ahead of the main
defensive position and later fall back.

What is the defensive area of a tank battalion?

Normally, a tank battalion can defend an area 3,000 to
5,000 meters wide and 2,000 to 4,000 meters deep. Within
the defensive area the tank battalion organizes mutually
supporting company defensive areas, each of which is up
to 1,000 meters wide and 1,000 meters deep. Where the
battalion defensive area is 3,000 meters wide, the gaps
between company positions may be as much as 800 meters
wide, but those gaps are protected by obstacles and fire.
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What exactly do you mean when you say "protected by ob-
stacles and fire"?

I'm taiking about things like conventional artillery in
conjunction with mines and non~exploding obstacles.

What are some of the defensive operations carried out by
a tank battalion?

A tank battalion may be assigned various defensive roles,
including destroying an enemny penetration by direct fire
or counterattack, engaging the enemy from ambush, closing
gaps created by enemy nuclear strikes, and providing fire
support (to motorized rifle troops).

what are the commander's considerations in setting up a
defensive position (area)?

In organizing and establishing a defense, the Czech com-
mander must take into consideration the following factors
estimated enemy forces, the mission, troops available,
terrain, and time.

How does each factor influence the commander?

Before any specific plans are drawn up, the commander mus
determine what it is he must accomplish and for how long.
Also, the enemy and his weapons systems will influence th
way the weapons are used and the type and amount of bar-
rier material required. The terrain and vegetation will
also affect the force composition and deployment. In ad-
dition, the troops available for commitment to the defens
seriously affect the force dispositions. Finally, the
amount of time available will temper all of these
considerations.
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' KEY TO PRACTICE EXERCISE 4

Here are the Czech questions and acceptable Czech answers. English
translations are provided for your convenience.

1. Jakd je dloha tankovych jednotek Eeskoslovenskych ozbrojenych
sil?

What is the role of the tank units within the Czechoslovak
armed forces?

Vv prfib¥hu boje poskytovat ddernou silu pozemnim vojskfém, kdy-
koliv a kdekoliv to je zapot¥ebi.

To provide a striking force for the ground troops wherever
and whenever they are needed during an operation.
2. Jakou dto¥nou taktiku pouZival 57. tpr?

what offensive tactics have been employed by the 57th Tank
Battalion?

Jsou t¥i z&kladni druhy Wto¥né taktiky pouZivané 57. tpr:
Telni dtok, obchvat a obejit{.

There are three basic forms of offensive tactics employed by
the 57th Tank Battalion: the frontal attack, close envelop-
ment, and deep envelopment.

3. Za jaky¥ch podminek se uskuteTluje Telni dtok?
Under what conditions is the frontal attack utilized?

Obvykle se provddfi, kdy¥ nep¥itel nemd zranitelné boky.

It's normally employed when the enemy does not have assailable
flanks.

4. Jaky je rozdil mezi obchvatem a obejitim?

What's the difference between a close envelopment and a deep
envelopment?

Obchvat je mén¥ hluboky manévr, namifeny proti jednomu nebo
ob¥ma bokfim, obejiti je hlubZi manévr do boku a tylu nep¥itele.

The cilose envelopment is a shallow maneuver directed against

one or both flanks; the deep envelopment is directed against
the flanks and rear of the enemy.
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Jak€ jsou bojové dkoly 57. tpr v obran@g?

What is the role of the 57th Tank Battalion in the defense?
Obsadit a udr¥et pFedem nebo sp¥3né p¥ipravend postaveni
nebo prostory, odrazit udtoky nep¥ftele a vytvo¥it p¥{znivé
podmfnky k provedenf{ protidtoku.

To occupy and hold previously well-prepared or hastily pre-
pared positions or areas, repel enemy attacks, and create
favorable conditions for launching a counteroffensive.

Co mid¥e pF¥inutit velitele p¥ejit do obrany?

What may force a commander to go to the defense?

pvody mohou byt rdzné; pFedn¥ - ¥ekdni na posily nebo ddn{
k dispozici ¥4sti svych sil jinym sloZkdm. Jinym dlvodem
m@Z¥e byt snaha vldkat nepfitele do nevyhodnych bojovych
postaveni (situaci).

There are various reasons: to await additional resources or
to free forces for other elements; another reason is to lure
an enemy into disadvantageous positions.

Jakou obrannou taktiku pouZival 57. tpr?

Whaﬁ defensive tactics have been employed by the 57th Tank
Battalion?

57. tpr provdd¥l pouze "spE&En¥ zaujatou obranu".

The 57th Tank Battalion used the only hasty defense.

Jakou jinoun obrannou taktiku pou¥ival 57. tpr?

What other defensive tactics have been employed by the 57th
Tank Battalion?

Jiny druh obrany je "pldnovand obrana".

Another form of defense is the planned defense.
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9. Jaky je rozdfl mezi pld&novanou a sp¥Sn¥ zaujatou obranou?

What is the difference between a planned and hasty defense?

Rozdfl je v tom, ¥e sily, pFechdzejici do sp¥¥n¥ zaujimané
obrany, budou Tasto v dotyku s nep¥itelem a bude skoro nemozZné
vybudovat bezpe¥nostni pdsmo.

The difference is that a force going over to a hasty defense
will frequently be in contact with the enemy, and it will be
almost impossible to establish a security zone.

10. Jakou organizaci m& tankovy prapor v obran¥?
What is the organization of a tank battalion in the defense?

Za normd&lnich podminek jsou tanky v obran¥ organizovdny tak,
%¥e dv¥ tankové roty jsou vpF¥edu a jedna je v zdloze.

Organization for the defense is normally with two tank compa-
nies forward and one company in reserve.

11. Jaké€ obranné operace mfii¥e provdd¥t tankovy prapor?

Wwhat kind of defengsive operations can be carried out by a
tank battalion?

Tankovy prapor mi¥e plnit rfizn€ dkoly, jako: zni¥it nep¥itele
p¥ifmou palbou nebo protidtokem, napadnout nep¥itele z 1é&%ky,
uzavEft mezery zplsobené nep¥dtelskymi jadernymi ddery a
poskytnout p¥imou palebnou podporu.

A tank battalion may be assigned various roles, such as
destroying an enemy by direct fire or counterattack, engaging
the enemy from ambush, closing gaps created by enemy nuclear
strikes, and providing fire support.

12. Co bere velitel v dvahu p¥i p¥iprav¥® obrany?

What are the commander's considerations in setting up a
defense?

Musf vz{t v dvahu situaci nep¥ftele, bojovy dkol, terén,
vojska, kterd jsou k dispozici a Tas.

He must take into consideration the enemy situation, the mis-
sion, the terrain, the troops available, and time.
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KEY TO PRACTICE EXERCISE 5

Below are cZech~translAtions of the statements, acceptable Czech
questions and their English translations.

Tankové jednotky n¥€kdy kombinuji svou organickou palebnou
sflu s rfznymi druhy podpfirnych paleb.

S ¥fm n¥kdy kombinujf tankové jednotky svou organickou
palebnou silu?

With what do the tank units sometimes combine their
organic fire power?

Telni dWtok se n¥kdy provddi jako vedlej¥f dsili nebo
klamny Wtok na podporu hlavnich sil.

Jak se n¥kdy provddi Telni dtok?

How is the frontal attack sometimes carried out?

Obejitf se provddi v taktické& soufinnosti s jednotkami
dto¥icimi TelnE.

Jak se provddi obejiti?

How is the deep envelopment carried out?

T8elem sp&Xn¥ zaujaté obrany jJe zabrdnit nep¥iteli v
pFi{stupu do ur¥itych oblastf.

Co je d8elem sp¥3n¥ zaujaté obrany?

What is the objective of a hasty defense?

vybudovat bezpeBnostni pdsmo p¥i sp€3n¥ zaujimané

obrang& je velmi nesnadné.
Co je velmi nesnadné p¥Ti sp8%n¥ zaujimané obran®?

Wwhat is a very difficult task when taking up the hasty
defense?
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6. a. Hloubka bezpeZnostniho pdsma p¥i pldnované obran¥ bude
mnohem v3t¥i, ne¥ p¥i sp¥¥n¥€ zaujimané obran@.

b. Jakd bude hloubka bezpe¥nostniho pdsma p¥i pldnované
obran¥?

c. What will be the depth of a security zone in the deliberate
defense?

7. a. S{fly protivnika p¥i sp¥Znd zaujimané obran¥ jsou na
dost¥el ru¥nich zbrani.

b. Kdy jsou sfly protivnika na dost¥el ruénich zbrani?

c. When are the opposing forces within small-arms range?

8. a. XAy¥ terén urfuje rozmist¥ni praporu Vv obran®, jedna
rota mdze byt vpFedu a dvé vzadu.

b. Kdy m@¥e byt jedna rota vp¥edu a dvE vzadu?

c. When could one company be forward and two in the rear?

9. a. ¥ hloubce obranného rajénu organizuje tankovy prapor
pdsma vzdjemné podpory.

b. Co organizuje tankovy prapor v hloubce obranného rajdénu?

Ce what does the tank battalion organize within the defensive
area?

10. a. Tankovy prapor mi¥e provdd¥t rfizné obranné operace, vZetn®
napadnuti nep¥iftele z 1éTky a poskytnuti palebné podpory
motost¥eleckym jednotkdm. B .

b. Jak€ obranné operace mdZe provdd¥t tankovy prapor?

c. What defensive operations can the tank battalion carry
out?

11. a. ©P¥i pFipravE® obrany musi velitel vzit v dvahu mnoho
Tiniteld

b. Co musi vzit velitel v dvahu p¥i §ffprav§ obrany?

Ce What does the commander have to take into consideration
in setting up a defensive area?
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Vojska, kterd jsou k dispozici k nasazeni do obrany, vd4dZ:
oviivni rézmist¥éni sil.

b. Co vé?nE ovliivnf rozmist¥Eni sil?

What will seriously affect the force dispositions?
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KEY TO PRACTICE EXERCISE 6

Here are acceptable translations for the questions and answers you
heard on the tape.

What is the main task assigned to tank units?
Ktery hlavni dkol se p¥id¥luje tankovym jednotkdm?
Ve vEt¥in¥ p¥ipadi, aby vedly dtok.

In most cases, to spearhead the attack.

Wwhy do tank units in most cases spearhead the attack?

Pro¥ jsou tankové jednotky v Tele dtoku ve vEt¥in%E
p¥ipadf?

Proto¥e majf velkou organickou palebnou silu a pohyblivost.
To je taky divod, pro€ se tankové jednotky poklddajf za
zdkladni ddernou silu.

Because of their organic fire power and mobility. That
is also the reason tank units are considered to be the.
basic striking force.

Why do you say "basic striking force"?
Pro¥ ¥ixdte "zdkladni ddernou silu"?

No, my md¥eme splnit sv@j dto¥ny dkol s pouZitim své
organické palebné sily. Av¥ak, taky ji n¥kdy kombinu-
jeme s jinymi druhy podpfrnych paleb.

Well...we can accomplish our offensive mission using our
crganic fire power. Sometimes, however, we combine it
with various types of supporting fires.

What offensive tactics may be employed by a tank battalion?

Jakou dWto¥nou taktiku mdZe pou¥ivat tankovy prapor?

Existujf t¥i z4dkladni druhy dto¥né taktiky: Telni dtok,
obchvat a obejitf.

There are three basic forms of offensive tactics: the fron-
tal attack, the close envelopment, and the deep envelopment.
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When is the frontal attack employed?

Kdy se provddi Telni uWtok?

Norm&1ln¥ kdy%¥ nep¥ftel nemd zranitelné boky. Jinak se
m@%e taky provdd3t (jako klamny dtok) k odvrdceni pozor-
nosti a podpo¥e vojsk, které prov4dd€ji obchvat.

Normally, when the enemy flanks are unassailable. Other-
wise it may be used as a diversion in support of an
enveloping force.

Wwhat is the goal of a frontal attack?

Co je dGelem Zelniho uWtoku?

Vytvo¥it mezery v nep¥dtelské€ obran¥, které pak vyuZzivaj
jiné€ jednotky k bofnim manévrim a niBenf nep¥ftele.

To create gaps in the enemy's defenses so that our force
can destroy the enemy.

Which flanking maneuvers do you mean?

Rter€ bo¥nf manévry mdte na mysli?

Obchvat a obejitf.

Close and deep envelopments.

What is the difference between the types of flanking
maneuvers?

Jaky je rozdfl mezi tEmito boénimi manévry?

P¥edn¥ to je hloubka manévru a dile podpora poskytnutd
jednotkam? dtoEfcimi Eeln¥E.

First, the depth of the maneuver, and second, the suppor
received from units attacking frontally.

What places those maneuvers in the same category?

Co ¥adf tyhle manévry do stejné kategorie?

Ten fakt, Ze jsou vedeny do bokd a t¥lu nepY¥itele.

The fact that they are directed against the flanks and
rear of the enemy.

54



TT1
PE6 Key

I: what other differences are there between a close and deep
envelopment?

Jakévjiné rozdily existuji mezi obchvatem a obejitim?

S: Slo¥enfi sil bude taky jiné, protoZe jednotka, provdd&jicy
obejiti, je zesilena k provdd&ni této nezdvislé akce.

The force composition will also differ, since a force enm-
ployed in a deep envelopment is reinforced for independent
action.
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SELF—EVALUATION TEST

PART 1

T1
SET-

Instructions: Complete the sentences below by selecting the worcd
phrases that will make each sentence meaningful, and grammaticall
correct. List your answer (a, b, ¢, or 4) on a separate piece of

paper.

1. Utodny boj se vede

a. do zna¥n€ hloubky nep¥4dtelské obrany.
b. s cflem dplného zniteni nepF¥itele.

c. 8 cflem ovliddnuti dfile¥itych prostori.
d. All of the above.

2. Uto¥ny boj m4& vysoce manévrovy charakter

as
b.
C.
d.

nunn

jasnou a pF¥ehlednou situaci.

ne¥astymi zm&nami situace.

rychlymi a n&hlymi zm&nami situace.
p¥esn¥ pFedvidatelnymi zmE€nami situace.

3. Tankov€ jednotky se zvld5t¥ hodi pro dtok, protoZe se

vyznaduj i

a. .  velkou
b. ve lkou
Ce ve lkou
d. velkym

spot¥ebou pohonny¥ch hmot.

ddernou a palebnou silou a pohyblivosti.
vdhou a silnym pancifem.

po¥tem rfiznych zbrani.

4. Tankovy prapor mfi¥e provdd¥t

a. postupy a zdstupy
b. Jdstupy a postupy.
c. objiZdky a zajizdky.
d. obchvaty a obejiti

5. Existujf dv¥ formy dtoku:

a. dtok
b. dtok
c. Udtok
d. dtok

z
S
2z
S

chodu a dtok bez p¥ipravy.
pFipravou a dtok z p¥imého dotyku.
chodu a dtok z p¥imého dotyku.
pFipravou a dtok bez pFipravy.
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6. Skrytd p¥iprava k dtoku d4vd moZnost
a. dosdhnuti p¥ekvapivého dlinku.
b. sniZeni rozsahu Zenijnich pracit.

c. vyuZiti neomezeného Easu.
d. zvySeni ostra¥itosti nep¥itele.

7. Tankové jednotky pou¥ivaji t¥i zdkladni druhy manévru:

a. postup, dstup a dtok.

b. Telni mandvr, obchvat a obejiti.
¢. obejiti, obchvat a postup.

d. prondsledovdni, obchvat a obejitf.

8. Obchvat je manévr k provedeni idderu

a. do hlubokého t¥lu nepF¥Fitele.

b. na dto¥iciho nep¥itele.

c. na postupujiciho nepF¥itele.

d. do jednoho nebo obou bokfi a bliZ¥iho t¥lu nep¥itele.

9. Jednotka p¥echdzi do obrany, kdy¥

a. nep¥itel m& p¥evahu.

b. nemf{ dostatek munice.

c. nemf dostatek PHM.

d. pot¥ebuje provdst ddr¥bu zbrani a vozidel.

10. Tankovy prapor v obran® v prvnim sledu mfiZe

a. prorazit nep¥4dtelskou obranu.

b. podporovat dtotici jednotky nep¥itele.
c. AdrZet zaujaty prostor.

d. provdd€t protiztel¥.

11« V prfb&hu dWto¥ného boje tankovy prapor pFechdzi do obrany, aby

a. si odpo€inul, doplnil st¥elivo a PHM.

b. proniknul do nep¥4dtelskd obrany.

c. znesnadnil nep¥iteli dWstup.

d. odrazil dtok nep¥itele a udr¥el zaujaty prostor.

12. Obrana z p¥imého dotyku s nep¥itelem se zaujimd

a. po dokonalé p¥ipravé obrannych pozic.
b. v krdtkych Fasovych lhétdch.

c. mimo dost¥el nep¥dtelskych zbrani.

d. bez rozkazu vy¥¥iho velitele.
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KEY TO SELF-EVALUATION TEST

PART 1

Following are the correct selections:

1. 4; 2. ¢; 3. b; 4. 4; 5. ¢; 6. a; 7. b; 8. 4; 9. a;
10. Cc; 11. d; 12. b.

Here are the translations of the sentencese.
1. Offensive combat is conducted

: a. in considerable depth of the enemy defense.
5 b. with the aim of completely destroying the enemy.
' Ce with the aim of controlling important areas.

d. all of the above.

2. Offensive combat is of a highly maneuverable nature

a. with a clear view of the situation.

b. with infrequent changes in the situation.

c. with fast and unexpected changes in the situation.
d. with exactly forseeable changes in the situation.

3. Tank units are especially suited for the attack because
they are noted for

a. high consumption of fuel.

b. heavy fire and striking power, and mobility.
Ce heavy weight and strong armor.

d. a large number of various weapons.

4. The tank battalion can carry out

a. advances and files.

b. -retreats and advances.

Ce bypasses and detours.

d. close and deep envelopments.

5. There are two types of attack:

a. attack from the march and attack without preparation.
b. attack with preparation and attack from direct.contac
C. attack from the march and attack from direct contact.
d. attack with preparation and attack without preparatic
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6. Concealed preparation for the attack enables

a. attainment of a surprise element.
b. limiting involvement of engineers.
c exploitation of unlimited time.

d increased enemy vigilance.

7. The tank units employ three basic types of maneuvers:

a. advance, retreat, and attack.

b frontal maneuver, close envelopment, and deep
envelopment.

c. deep and shallow envelopment, and advance.

d. pursuit, shallow and deep envelopment.

-

8. The close envelopment is a maneuver for carrying out a strike

a. into the depth of the enemy rear-.

b- on an attacking enemy.

Ce on an advancing enenmy.

d. into one or both flanks and into the close rear of the
enemy.

9. A unit switches to defense when

a. the enemy has a superior force (or superiority)-.

b. it does not have enough ammunition.

Ce it does not have enough POL.

d. it needs to carry out maintenance of weapons and
vehicles.

10. The tank battalion in a first echelon defense can

ae. break through the enemy defense.
b. support the attacking enemy units.
¢« hold an occupied area.

4 carry out a counterattack.

11. In the course of offensive combat, a tank battalion switches
to the defense in order to

a. rest and replenish ammunition and POL.

b. infiltrate enemy defenses.

c¢. make the enemy's retreat more difficult.

d.. repel an enemy attack and hold an occupied area.
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12. The defense from direct contact with the enemy is taken up

a. after thorough preparation of defensive positions.
b. in a short period of time.

Ce out of range of enemy weapons.

d. without the superior commander's orders.

60



TT1
SET2

SELF—EVALUATION TEST

PART 2

~ Instructions: On tape you will hear a short interrogation dialog.
S Questions will be in English and the responses in Czech. Write a
;. Czech translation of each question and an English translation of

each response.
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KEY TO SELF-EVALUATION TEST

PART 2

Here are acceptable translations for the guestions and responses
heard on the tape.

What is the role of a tank battalion in the defense?
Jakou dWlohu hraje tankovy prapor v obran¥&?

Obsadit a drZet vybudované nebo sp¥E3n¥ zaujaté posice
nebo prostory, s WBelem vytvoFit p¥iznivé podminky pro
protidtok.

To occupy and hold well-prepared or hastily prepared po:
tions or areas, thus creating favorable conditions for
launching a counteroffensive.

Under what circumstances do tank units assume a defensi:
role?

Za jakych okolnosti p¥ejimaji tankové jednotky obrannou
Wlohu?

Kdybychom narazili na nep¥itele, ktery md pFevahu a ndS
dtok by byl zastaven. Nebo kdybychom dostali rozkaz,
abychom uvolnili ¥4st svych sil k podpo¥e jinych jednot
provdd&jicich dtok.

When we encounter a superior enemy force, and our attac
is halted; or, when we are ordered to release some of o
units to support other units conducting an offensive.

Wwhat other circumstances would cause tank units to assu
a defensive role?

Za jakych jinych okolnosti by tankové jednotky pFfejimal
obrannou dlohu? :

P¥i odrdZeni nep¥4dtelského protidtoku nebo vlidkdni nep¥
tele do nep¥iznivé situace (pozice), kde by ho mohly na
sfly (dovednym) manédvrem zni€it.

To repulse an enemy counterattack, or to lure the enemy
into a disadvantageous position so that our maneuvering
forces can destroy him.
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4. TI: What tactics are employed by tank units in the defense?
Jakou taktiku pouZivaji tankové jednotky Vv obran®é?
S: Taktiku, kterou norm&ln¥ pou¥ivdme pF¥i zaujimdni sp¥Iné

nebo vybudované obrany. No, ale my jsme doposud provéd-
d¥li jen sp¥¥ny pFechod do obrany.

Those tactics we normally use in a hasty or deliberate
defense. We've only used hasty defense tactics up to now,
however....

5. I: What do you mean when you say "we"?
Co tim minite,. kdy¥ ¥ikdte "my"?
S: 57. tankovy prapor.

The 57th Tank Battalion.

6. TI: What tactics are normally used by the 57th Tank Battalion
during a hasty defense?

Jakou taktiku norm#ln¥ pou¥ivd 57. tpr pFi spE€¥nd¥ zauji-
mané obran¥?

S: Xdy¥ provddime ¥p¥&¥ny pfechod do obrany, oby®ejn¥€ jsme v
. - dotyku s nep¥itelem. JelikoZ nep¥itel je na dost¥el rul-

nfch zbrani, nemii¥feme spoléhat na podplrné palby k jeho
pFemo¥feni. Na¥e tanky jsou ve v8¥ovych postavenich, pro-
to¥e nemdme ¥as, abychom se zakopali. sna¥ime se zni¥€it
p¥ibliZujfciho se nepFitele vIemi svymi vliastnimi zbran@®mi.
Jakmile je dtok nepF¥itele zastaven, ihned zah{jime pro-
tizte¥ ke znovuziskdni pFevahy.

When we conduct a hasty defense, we are usually in contact
with the enemy. Since the enemy is within small—-arms range,
we cannot rely upon our supporting fires to defeat him.

Our tank units are placed in defilade, as we don't have

the time to dig in. We attempt to destroy the approaching
enemy force with all of our organic weapons. Once the
enemy attack is halted, we immediately counterattack in
order to regain the advantage.
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What tactics are normally used by the 57th Tank Battalio
during a deliberate defense?

Jakou. taktiku normdln¥ pou%ivd 57. tpr ve vybudované
obran&?

Nejvy¥znamn¥jEi faktor, ktery ovliiviiuje zaujeti vybudovan
obrany je Tas. Oby¥ejn¥ nejsme v dotyku s nepFfitelem.
M@¥eme ho poutat dalekymi palbami. Mf@Zeme se spolehnout
na ¥enijni zabezpeBeni a vybudovat obrannd postaveni pro
tankové jednotky. Taky mi¥eme vybudovat p¥ed hlavnim po
stavenim zabezpe¥fovaci pdsmo, ve kterém vyflen®né jednot
p¥inuti Wto¥iciho nep¥itele, aby se p¥ed¥asn¥ rozvinul.
Jakmile ho tim zpfisobem p¥inutime k rozvinuti, dostaneme
ho do nevyhodné situace, kterou pak miZeme vyuZit.

The most significant factor influencing a deliberate de-
fense is the element of time. We are not usually in
contact with the enemy; thus, we can engage him with our
long-range (supporting) fires. We can rely upon our
engineer support, and build defensive positions for our
tank units. We can also establish a security echelon,
which, when deployed forward of our main units, will for
the attacking enemy to prematurely deploy his units. On
we have forced him to deploy his units in this manner, h
is in a disadvantageous position, one which we can explo

In what manner would the 57th Tank Battalion exploit suc
a premature deployment of enemy forces?

Jakym zp@sobem by 57. tpr vyuZil pF¥ed€asné rozvinuti ne-
pFdtelskych sil?

ZabezpeBovaci jednotky ndm podajf zprdvu o sile a rozvin
nep¥itele. My na n¥j ihned zahdjime palbu, pouZijeme n@
které naSe jednotky k Telnimu dtoku a zbytek na¥ich sil
bo¥nim manévriim (obchvatfim a obejitim), abychom mu zabrd
nili ve vyjiti z boje a odchodu.

The security echelon informs us of the size and disposi-
tion of the enemy. We then engage him with our supporti
firegs, use some of our units to attack him frontally, an
use our remaining elements in a flanking maneuver to
prevent his withdrawal.
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How far in front of the main defensive positions is the
security echelon deployed?

Jak daleko p¥ed hlavnim postavenim je zabezpe€ovaci pdsmo?

Bude to z4dle¥et na terénu a bude to alespon tak daleko,
abychom zabrdnili nep¥iteli poloZit p¥imou (¥izenou) palbu
na hlavni obranné postaveni.

It will depend on the terrain and it will be at least far
enough forward to prevent the enemy from laying direct
fire on the main defensive positions.

What is the size of the area occupied by the 57th Tank
Battalion in the defense?

Jak velky prostor (obrany¥ rajén) zaujimd 57. tpr v obran¥?

Ve sp¥3n¥ zaujimané obrand velikost obranného rajénu se
bude 1li¥it od jedné taktické& situace ke druhé. Na nej-
lep3i rozmist®ni jednotek neni dost ETasu. Ale ve vybu-
dované€ obran¥®¥ obranny rajén p¥id¥leny tankovému praporu
je norm&ln¥ 3000-5000 m ¥iroky a 2000~4000 m hluboky.

In a hasty defense, the size of the area occupied varies
with the tactical situation. There isn't much time for
the best deployment of our units. During a deliberate
defense, however, the defensive area assigned to a tank
battlion is normally 3,000-5,000 meters wide and 2,000~
4,000 meters deep.
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PY¥echod z p¥edbojové sestavy do bojové sestavy po dosa¥enf ®4ry rozvinuti

Change from approach~-march formation to combat formation upon reaching line of deployment
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ENRICHMENT SUPPLEMENT

This supplement is an article taken from Atom 2/1984 magazine,
I describing modern tank gun stabilization systems.

It is a very interesting article, with detailed explanations
about how and why gun stabilizer systems provides better conditions
for monitoring the battlefield, reduce dispersion at the point of
impact, and thus improve severalfold the probability of hitting
the target.
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Stabilizace tankového kandnu

Usp&%¥né spln¥ni dkolu tanku v dto¥né€ operaci je podmin€no jeh:
vysokou manévrovosty, nep¥fetr¥itou a W&innou palbou. Tanky, kter
nesplfiuji tyto po¥adavky, nejsou dostate®¥n¥ uddinné p¥i pF¥ekondvdn.
soudobé& obrany, nasycené vysokym poltem protitankovych prost¥edkd
Z4dkladnim zpfisobem vedeni palby z tankovych zbrani musi byt proto
st¥elba za jfzdy, kdy je moZno maximdln¥® vyuZit rychlostni a mané

vrovaci vlastnosti tanku.

P¥i st¥elb¥® za jifzdy se vEak zasahuje cil mnohem obtiZnéji ne’
z mista za krdtkych zastdvek. Xorba jedouciho tanku vykondvi tot
slo¥ity¥ prostorovy pohyb, ktery je moZno rozlo%it do soustavy pos
nych a natd8ivych pohybd kolem st¥edu kmitdni (t¥Zi¥t¥). PoloZim
1i tEZi¥tEm O (obr.1) soustavu souFadnic, miZeme vliiv jednotlivyc
slo¥ek kmitdni ur¥it odd¥len¥E. Parametry linedrnich a dhlovych
kmitd kaZdého typu tanku se zji¥fuji experimentdln¥d, p¥i bEZnych
podminkdch jizdy. Vy¥sledky t¥chto zkou¥ek, zpracované. metodami
teorie pravd¥podobnosti, se uvdd¥jif jako st¥edni parametry (viz
tabulka). 2 tabulky je zFejmé, ZFe nejvEtEL vliiv na pFesnost st¥e
by za jifzdy maji podélné kmity (kolem osy X) a horizontdlni kmity
(kolem osy Z), které zna¥n® zmen¥uji pravddpodobnost zdsahu za
- jfzdy. Na rozptyl zdsahfl md zna¥ny vliiv i zpoZd¥ni vystF¥elu (Tas
ol od konce navedeni kandnu na cil do okamZiku, kdy st¥ela opoulty
' hlave¥). Nap¥. lze vypo¥tem urlit, Ze p¥i uvaZované st¥edni dhlo
rychlosti pohybu hlavn¥ (odvozené z tabulky), p¥islu¥né dsTové ry
chlosti st¥ely a prodlev® odpalovaciho mechanismu se poloha osy
hlavn¥ (v¥st¥elnd) ur¥itého tanku 1li¥i od polohy dan€ navedenim
o 1,37°, tj. 23,9 mrad ve svisld rovin® a o 0,26°, 4,6 mrad ve vo
dorovné rovin¥. Jestli¥e 1 mrad (nesprdvn@ dflec) pY¥edstavuje
dse¥ku 1 .m dlouhou ve vzddlenosti 1 km, pak p¥i ddlce cfle 1 km
B S dochdzi k vySkové dchylce 23,9 m a stranové dchylce 4,6 m, piso-
il benim zpo%d¥ni vyst¥elu z jedouciho tanku. ExperimentdlnE bylo
SRR zji¥tBno, Ze procento zdsahf p¥i stF¥elb® bez stabilizdtoru za jiz

nepFesahuje 5 a%Z 7%.

Z toho plyne, Ze vést palbu za jizdy s nestabilizovanym kandn
je nedfelné.

St¥elba p¥i krdtkych zastdvkdch ale sni¥uje st¥edni bojovou
chlost tanku pFibli%¥n¥ na polovinu a pravdg&podobnost, Ze tank bud
protivnikem zasaZen, prudce roste.

Toto vie ukazuje na nutnost pouZiti automatizovanych kompletd
vedeni palby, jejichZ zdkladem je stabilizdtor tankového kandnu.
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TRANSLATION ENRICHMENT SUPPLEMENT
TANK GUN STABILIZATION

Successful completion of an offensive operation by a tank de-
pends on its high maneuverability, and on its continuous and ef-
fective firing. Tanks that fail to meet these requirements are
not sufficiently effective in overcoming modern defenses that are
saturated with antitank weapons. Therefore the basic mode of fir-
ing the tank's weapons must be firing on the move, which permits
maximum utilization of the tank's speed and maneuverability.

In the case of firing on the move, however, it is much more
difficult to hit the target than with stationary firing during
brief stops. This is because a moving tank's hull describes com-
plex, three-dimensional‘motion, that can be broken down into a
system of sliding and rotary motions about the center of oscilla-
tion (center of gravity). If we draw a system of coordinates whose
origin is the center of gravity 0 (Fig.1), we can determine sepa-
rately the effect of the individual components of oscillation. The
parameters of linear and angular ogcillations are determined exper-
imentally for each type of tank, under normal running conditions.
The results of these tests, processed by the methods of probability
theory, are given as mean parameters (see table). From the table
it is evident that the accuracy of moving fire is affected most by
longitudinal oscillations (about the x axis) and horizontal oscil=-
lations (about the z axis), significantly reducing the probability
of hitting the target. Dispersion of the points of impact is also
influenced considerably by the firing lag (defined as the time from
completing the aiming of the gun at the target to the moment that
the shell leaves the gun barrel). For a given mean angular veloc-
ity of the barrel's motion (obtained from the table), and for the
appropriate muzzle velocity of the shell and the firing mechanism's
lag, for example, it can be demonstrated by computation that the
direction of a given tank's gun line (line of fire) differs from
the direction that the gun director sets, by 1.37° or 23.9 mili-
radians (mrads) in the perpendicular plane, and by 0.26° or 4.6
mrad in the horizontal plane. If one mrad represents a line seg-
ment one m long at a distance of one km, then at that distance the
deviation in height due to the firing lag from a moving tank is
23.9m, and the lateral deviation is 4.6m. It has been determined
experimentally that the percentage of hits from a moving tank
without a gun stabilizer does not exceed five to seven percent.

Hence it follows that fire from a moving tank without a gun
stabilizer is not expedient. ’

Stationary firing during brief stops reduces to about half the
tank's average combat speed; and the probability that the tank
will be hit by the enemy rises sharply.

This indicates the need to use automatic fire control systenms
+hat are based on the tank gun stabilizer.

69



Tl

Stabilizdtory zbrani jsou specidlni systémy automatické regu
lace, ur¥fené pro navedeni zbran¥ na cil a pro udrZeni (stabiliza
zadaného sm¥ru osy hlavn¥ kandnu v prostoru, p¥i kmitdni korby
tanku, ktery vede palbu za jfzdy. Systémy stabilizace zbrani so
doby¥ch tankft zabezpe¥uji zmen¥eni amplitudy podélnych dhlovych
xmit8 na jednu t¥icetinu a¥ jednu ¥tyFicetinu a jejich dhlové€ ry
chlosti na jednu osminu a¥ jednu desetinu zmen¥eni amplitudy hor
zont&lnfch dhlovych kmit& v¥¥e spole¥n¥ se zbranf na jednu deset
a¥ jednu dvandctinu a jejich dhlové rychlosti na jednu t¥etinu a
jednu Btvrtinu. V didsledku pouZityi systému stabilizace se tedy
zlep¥uji podminky pozorovdni bojiEtE, n¥kolikandsobn¥® vzrfistd do
zji%¥t¥ni a rozli¥eni cflfi, zvySuje se pFesnost navedené zbran¥ n
¢fl a zmen¥uje se rozptyl. 2Za stejnych podminek, jako p¥i nesta
bilizovand zbrani, se zvySuje procento zdsah@t cile 7 a% 8krdt
(na 35 a¥ 55 %). :

Vviechny na¥e a v¥t¥ina zahrani¥nich soudoby¥ch tankfi m& zbran
stabilizované ve dvou rovindch {(zbra¥ v rovin® podélnych dhlovyc
kmit8 a vE¥ se zbrani ve vodorovné rovin¥d). Zorné pole zamE&Fova
mi¥e byt pevn¥ spojeno se zbrani a stabilizovdno bud s ni nebo
nezdvisle na ni.

Bez ohledu na to, ¥e stabilizdtory zbran€ a vEZe se podstatn
1i¥f konstruk¥n¥, plati pro n¥ stejné funk®ni schéma. Stabilizé
tory vEt3Siny soudobych tankfl jsou uzav¥ené systémy automatické x
gulace, které reaguji na odchylku zbran® od zadaného sméru (tzv.
polohové systémy).

Pot¥ebny smEr osy hlavn¥ se zaddvd gyroskopickym snima€em uh
ktery je upevn¥n bezprost¥edn¥ na stabilizované soustav& (kandnu
To umo¥fiuje nepFetr¥it¥ m¥F¥it dhlovou odchylku hlavn® od zadané
polohy v prostoru. Jestli¥e se pisobenim poruchového momentu (x
mentu vn¥jSich sil) My (obr. 2), vyvolaného kmity korby tanku,
stabilizovand soustava odkloni o n¥jaky dhel @, na vystupu snima
dhlft se objevi nap¥tfi 17,, jehoZ hodnota je dm3rnd odchylce. Po
zesilenf zesilovafem Z se toto napéti p¥ivddi na vstup ak¥niho
€lenu {(pracovniho mechanismu) jako ¥idicl signdl. AkEni Elen vy
tvo¥f todivy moment (stabiliza®ni moment) Mg, ktery plsobi proti
poruchovému momentu My a zmen¥uje dhel odchylky g@- Tim pln&dji 1}
stabiliza®ni moment kompenzovat poruchovy moment, tim men¥f budc
odchylky vyst¥elné od zadaného sméru a tim pFesn¥j3i bude stabil
zace zbran®€.
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Gun stabilizers are special-purpose automatic control systems
intended to aim the gun at the target and to maintain (stabilize)

" the assigned gun direction in space, despite the oscillations of

the hull of a tank that is firing while moving. Gun stabilizer

systems on modern tanks reduce the longitudinal angular oscilla-

tions' amplitude to between 1/30 and 1/40, and their angular ve-~

locity to between 1/8 and 1/10; the amplitude of the horizontal

angular oscillations of the turret and gun to between 1/10 and 1/12,

and their angular velocity to 1/3 or 1/4. As a result, the use of

© gun stabilizer systems provides better conditions for monitoring

- the battlefield, increases severalfold the range at which targets

" can be observed and distinguished, enhances the accuracy of aiming
the gun at the target, and reduces the dispersion of the points of

impact. Under the same conditions as with nonstabilized tank guns,

the percentage of hits increases seven-to-eight~-fold (to between

35 and 55 percent). .

All of our tanks and most modern foreign tanks have guns sta-
bilized on two planes (the gun in the plane of longitudinal angular
oscillations, and the turret with the gun in the horizontal plane).
The sighting device's field of view may be fixed to the gun, and
stabilized with the gun or separately.

Although stabilizers for, respectively, the gun and the turret,
differ significantly in their design, the same functional diagram
applies to both. The stabilizers on most modern tanks are closed-
loop automatic control systems that respond to the gun's aiming
error (so-called directional systems).

The. required gun line is assigned by a directional gyroscope
that is mounted directly on the stabilized system (gun). This per-
mits continuous measurement of the gun line's angular error from
the assigned gun direction. When a moment of disturbance (moment
of external forces), My (see Fig. 2), due to the oscillations of
the tank's hull, causes the stabilized system to deviate by some
angle ¢, at the output of the directional gyroscope there appears
a voltage, 7,, whose value is proportional to the error. After
amplification in amplifier Z, this voltage is fed as a control
signal to the input of the servo (gservomechanism). The servo gen-
erates a torgue (stabilizing moment), Mg that counteracts the mo-
ment of disturbance, My, and narrows the angle of deviation ¢ .

The more completely the stabilizing moment compensates for the mo-
ment of disturbance, the smaller will be the deviations of the line
of fire from the assigned direction, and the more accurate will

be the gun's stabilization.
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System of coordinates for determining the motions of a moving tank's

hull, with the origin at the tank's center of gravity

Kmity thlove linedrn{
Oscillations angular linear
ampl%tuda rychlost frekvence zrychleni
Druh amplitude velocity frequency acceleratis
Type ozn. stup. | ozn. o/s ozn. Hz ozn. | m.s
sym. deg. sym. ps sym. Sym.
Podélne :
Iongitudinal ' 25| @ 8.25 fe 1.1 iy 1.
PEidné _ - T
Transverse Y 1.8 7/ 6.3 f}f 0.8 Az 0.
HorizontAln{ . ] :
Horizontal 14 1.2 7/ 1.6 f}” 0.6 Ay 0.
Parameters of the tank hull's oscillations when travelling over terrai

of average roughness, at speeds of 1 to 20 kilometers/hour

Figure 1
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1. Servo 3. Rate gyroscope
2. Controlled system (gun 4. Directional gyroscope
or turret)

Functional diagram of a tank's stabilizer
Figure 2
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Pro dosa¥enfi pFesn¥jEf stabilizace se zvyBuji zesilovaci koef
cienty zesilovaTe a akdnfho €lenu. Ale p¥i uréitych hodnotdch
+¥chto koeficient8 vznikajfl ne¥fdouci samovolné kmity, které& znat
zvEtEuji rozptyl st¥elby. K utlumeni t¥chto kmitfh se do systému
zavddi pruZnd zdpornd zpétnd vazba od dhlové rychlosti pohybu st:
bilizované zbran¥. Realizuje se gyroskopickym snimaZem rychlost!
(gyrotachometrem - obr. 2), ktery je, stejn¥® jako snima®€ dhld, ur
st®n na kandnu a mEFL jeho absolutni dhlovou rychlost. Napéti Uy
na vystupu gyrotachometru, dm¥rné derivaci dhlu nato¥eni zbran@ g
se s¥iftd s nap3tim U, snimafe dh1if v souBtovém obvodu SO.

Sou¥tové napdtf U, = U, + U, Jje po zesfleni v zesilova®i ¥id
signdlem ak¥niho Tlenu.

Nav&d®ni zbran® na cfl (p¥i prdci stabilizdtoru) se uskute®h
zm¥nou polohy osy rotace t¥istupfiového gyroskopu snimade dhlf v
prostoru ¥Ildicim signdlem Uy, (kandl A - obr. 2). V systému sta
bilizace vE¥e se mimo kandlu A (automatika) obvykle pouZivd i re’
navedeni bezprost¥ednim pfisobenim na vstup ak¥niho Elenu p¥i odp
jenych gyroskopickych snfma¥ich signdlem Uy, (kandl PA - poloaut
matika - obr. 2).

Stabilizovanou soustavu ovlddd st¥elec S a pouZivd k tomu ov
daci pult PU, kterym vytvd¥{ ¥idici signdly Uy, a Uy - Samotny
systém stabilizace zbran® sice podstatn¥ zvySuje pravdépodobnost
z£sahu cile, ale neni plnE& schopen zabezpedit zdkladni poZadavek
kterym je zdsah cile prvni ranou i z jedoueciho tanku.

YeXeni tohoto po¥adavku zdvisi pfedeviEim na vycvifenosti osd
tanku a dal¥im zdokonalovdni automatizovanych systémi vedeni pal

Jak ji¥ bylo uvedeno, je stabilizdtor pouze zdkladem tEchto syst

K zabezpe¥ni vysoké& efektivnosti vedeni palby jsou soudobé s
bilizdtory dopln¥ny dokonalym za¥izenim pro mE¥eni ddlky cile, r
cujfecim s vysokou pFfesnostfi.

vzhledem k vysoké bojové rychlosti soudobych tankd uplyne tc
relativn® dlouhd doba od zmEFeni dd1ky do okamZiku v¥st¥elu. Pr
se do kompletu vedeni palby zaflefiuje i za¥izeni, které€ pridbEZEne
mEni nastavenou dflku v zdvislosti na ujet& vzddlenosti i sm@ru,
vzhledem k poloze cile. Systém vedeni palby se doplfiuje i za¥i-
zenim, kterd€ umoZni vyst¥el jen pFi velmi malé odchylce zbran¥ «
stabilizované polohy. Aby se urychlil dal¥f vystFel, je systém
dopln¥n i nabijecim za¥izenim, které odstrafiuje fyzickou ndmahu
podstatn¥® urychlf nabitfi.

74



TT1
ES Trans

For more accurate stabilization, the amplification coefficients
" of the amplifier and servo are increased. At certain values of
“these coefficients, however, there arise spontaneous oscillations
“that considerably increase fire dispersion. Elastic negative feed-
 'back from the angular velocity of the stabilized gun's movement is
S introduced into the system to dampen these oscillations. This
feedback is provided by the rate gyroscope (gyrotachometer, Fig. 2)
that is mounted on the gun, in the same way as the directional gy-
roscope. Voltage, U , at the output of the rate gyroscope is pro-
- portional to the derivative of the gun's angle of rotation . This
- voltage is added to the directional gyroscope's voltage; U, , in add
~ecircuit, SO.

: After amplification in the amplifier, the total voltage

"U, = Uy, + U, is the servo control signal.

) To aim the gun at the target (when the stabilizer is function-

.. ing), the position of the free directional gyroscope's axis of ro-

_ij‘tation is changed by means of control signal Uys (channel 3, Fig. 2.)
"7 In addition to the A (automatic) channel, the system of turret sta-
. bilization usually employs also *he mode of direct aiming, by dis-
7 connecting the gyroscopes and supplying signal U,, to the servo's

input (semiautomatic channel PA, Fig. 2).

The gunner S controls the stabilized system through control
panel PU that generates the Uy, and Uyp control signals. Although
% the gun stabilizer system itself increases considerably the proba-
~f bility that the target will be hit, it is unable to fully ensure
" the basic requirement of hitting the target with the first shot
from a moving tank.

Solution of this requirement depends primarily on the skill of
the tank's crew and on the further perfection of the automatic fire
control systems. As mentioned earlier, the gun stabilizer is merely
the basis of such systems.

For highly effective fire control, modern stabilizers are sup~
plemented with highly accurate range finders.

In view of the high combat speed of modern tanks, there is a
relatively long time lag between finding the range and the moment
of firing. Therefore the fire control system also includes equip-
ment that continuously alters the set range as a function of the
traveled distance and direction relative to the target's position.
There is also equipment that permits firing at only a very small
deviation of the gun line from the stabilized position. To speed
up the firing of the next shot, the system also has loading equip-
ment that eliminates heavy physical labor and considerably shortens
the reloading time.
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Ukolem velitele tanku je vyhleddvat cile st¥elby a urtovat
po¥adi jejich dfile¥itosti. K tomu je Fada soudobych tankl@ vybave:
na zdvojenym ovlidd4infm zbran¥ v obou rovindch {st¥elcem a velitelc
nebo mo¥nosti navedeni zbrand ve vodorovné rovin® ve sm&ru nového
nebo dfile¥it¥j3iho cile. V tomto p¥ipad€ md velitel p¥i ovidddni

zbran¥ p¥esnost p¥ed st¥elcem.

V¥voj automatizovanych systém@ vedeni palby, vietnd stabilizd:
torft tankovych kandéni, neustdle pokraTtuje. pal¥im krokem tohoto
vy¥voje je zavdd¥dnil minipo¥ita¥f, které jsou schopny ve velmi krdt
dob¥ vyhodnotit zna¥né mno¥stvi informaci a automaticky nastavit
prvky st¥elby. Tim se op¥t podstatn¥ zvy5{ nejen pravd&podobnost
zd&sahu cile, ale pFedev¥im pravd¥E¥podobnost z&sahu cile prvni rano
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‘ The tank commander's task is to f£ind the targets and to assign
~ them priorities in accordance with their importance. Therefore

" many modern tank guns have dual controls (for the gunner and the

"" tank commander, respectively) or provisions for aiming the gun in

- the horizontal plane at a new or more important target. In this

. case the tank commander overrides the gunner in controlling the gun.

The development of automatic fire control systems, including

. tank gun stabilizers, is continuing incessantly. A further step

in this development is the introduction of minicomputers that are
able to evaluate within a very short time a considerable amount of
information and to automatically set the elements of the trajectory.
This again significantly increases the probability of not only
hitting the target, but of hitting it with the first shot, as well.
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